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{(Approved by PCl, AICTE & Affiliated to JNTUH)
Gunthapally (V), Abdullapurmet (M), R.R, Dist., Near Rameji Filmcity, Hyderabad - 501 512,

POLICY DOCUMENT

AVANTHI FREESHIP AND MERIT SCHOLARSHIP POLICY

OBJECTIVE: The objective of the scheme is to provide financial assistance to the scheduled

students studying at Avanthi Institute of Pharmaceutical Sciences to enable to complete their

education.

The management of Avanthi Institute of Pharmaceutical Sciences is committed to promote and

support higher education opportunities for students from diverse backgrounds.

In recognition of the importance of financial aid in facilitating access to quality education, the
institution has established a policy framework for the fair and transparent distribution of non-

government scholarships and free ships.

The institution has taken several initiations to motivate students to perform well in their

academics, sports and extra-curricular activities,

The student’s eligibility for award, medals and other financial assistance is based on their

academic performance, financial background and other needs.

This policy document outlines the guidelines, procedures and criteria for the awarding of merit

scholarships and free-ships.

The financial assistance to the students will be provided based on the following criteria:

1) To encourage and reward academic excellence, recognizing outstanding achievements by
students at Avanthi Institute of Pharmaceutical Sciences.

2) To provide financial assistance to students from poor background, enabling them pursue
higher education.

3) To promote a diverse and inclusive student community by supporting students with
exceptional talents in sports, cultural activities or other areas of achievement.

4) To ensure transparency, fairness and accountability in the process of Scholarships and

free-ships.

5) Financial support shall be provided to needy students to take-up quality projects
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AVAN‘I‘H INSTITUTE OF
PHARMACEUTICAL SCIENCES
{(Approved by PCl, AICTE & Affilioted to JINTUH)
Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Rameli Filmcity, Hyderabad - 501 512,

6) Admission through free ship will be offered on a first- come, first- served basis financial
status of applicant.

7) The students who are eligible can apply for AVANTHI FREESHIP AND MERIT
SCHOLARSHIP (INTERNAL POLICY) and must attend the counseling for as per the
schedule.

8) The Freeships offered through Avanthi Freeship Test, is applicable for the first year
students at the time of admission. The same freeship will be continued in subsequent years
of study based on the student performance

9) After first year and for the consequent years, the students must attain the attendance
percentage > 80 and should not have more than two backlogs in the previous academic year.

10) The list of short listed students who obtain merit marks in Avanthi Freeship Test are
forwarded by the Principal to the Governing Body for approval Freeships are
implemented after the approval in Governing body council.

11) Concession / Freeships can also be given to other senior students based on the annual income
of the parents and also on the socio — economic condition of the students, the decision will be

purely based on the institution

STUDENT MERIT SCHOLARSHIP FRAME WORK
The merit scholarship will be provided for all First and Second TOPPERS of the students year

wise and programwise.
1.For 1°" TOPPER awarded ...........Rs 5000 /-
2 For 2" TOPPER awarded ...........Rs 3000 /-

The Avanthi Freeships and Merit Scholarships Policy is adapted on this day Dec 4™ 2017 at
Avanthi Institute of Pharmaceutical Sciences, Hyderabad. According to the Merit scholarship

Policy,those who are academic toppers will be awarded on Anniversary Day of the institution
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Avanthi InstituteofPharmaceuticSciences,

Gunthapally(V), Abdullapurmet(M), Ranga Reddy Dist.501512
FREESHIP EXAMINATIONTEST

2020-21
Total Marks: 100 Duration: 180min
Name of the student: Date:
Avanthi Freeship No: '
1. Maximum transpiration is by ( )
1) Stomata 2) Cuticle 3) Lenticels 4) Cuticle & Lenticels
2. Scotoactive stomata ( )
1) Opens during day time 2) Opens during night time
3) Opens during Day & Night 4) Never opens
3. Dumbbell shaped guard cells are seen in ( )
1) All monocots 2) Liliaceae 3) Graminaceae 4) Dicotyledons
4. Source of protons during stomatal opening is ( )
1) Water 2) Sugars 3) Light 4) Malate
3. During opening of stomata, into the guard cells ( )
[: Entry of K+ is active II: Entry of Cl is active
III: Export of H+ is active IV: Entry of H,O iénactive
Correct statements are
HI&II DN &I 3)T&I H1 &IV
6. Trafspiration can be demonstrated by ( )
1) Ganong’s potometer 2) Bell jar experiment
3) Hydrilla experiment 4) Barometer
7. The factors that show inversely proportional relationship with transpiration
C )

1) Temperature & Humidity

2) Availability of water & Very high velocity of wind
3) Light & Temperature

4) Humidity & Very high velocity of wind
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8. Assertion (A): Spinous plants transpire less ( )
Reason( R) : Spines are adoptions of xerophytic plants
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false 4) A is false, R is true

9. Natural anti transpirant in plants is ( )
1) Auxin 2) Malate 3) Proton 4) ABA

10.  Transpiration plays an indirect role in ( )
1) Uptake & Transport of minerals 2) Absorption of water
3) Translocation of solutes 4) Distribution of water

11.  Transpiration is a ‘necessary evil ‘- stated by ( )
1) Slatyer 2) Arnon 3) Knop 4) Curtis

12.  Phenyl mercuric acetate (PMA) is ( )

1) An antibiotic used as an antitranspirant
2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

o6

13.” Enzymes that use ATP for their activity is ( )
1) Kinases 2) Synthetases
3) Transferases . 4) Hydrolases

14. . Metallic co-factor in carboxy peptidase is ( )
1)Fe 2)Mn 3) Zn 4)Mg

15.  Third number in the enzyme nomenclature indicates ( )

~

1)Sub-Subclass 2)SubClasses 3)Major Classes 4)Serial number
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A
18.

19.

20.

21.

22.

23.

Protein part in a holo enzyme is ( )
1) Apoenzyme 2)Simple enzyme

3)Conjugated enzyme 4)Inducive enzyme

The reaction CO+ H,O < H,COj requires ( )
1) No enzyme 2)An enzyme

3)Very high temperatures 4)Very low temperatures

. Immunity that protects against intracellular bacteria, virus & cancer cells is

a) Innate immunity b) Humoral immunity
¢) Non-specific immunity d) Cell mediated immunity

Stomatal Index is ( )
1) Ratio between stomata and leaf surface area

2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that
unit are

3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that

area.

Ascent of sap is movement of water from ( )
1) Soil into Xylem 2) Xylem into leaves

3) Xylem into atmosphere 4) Leaves into atmosphere

Guttation is ( )

1. Evidence of root pressure.
2. Movement of water through the apoplast.
3. Movement of soluble organic materials through plants

4. Negative pressure created by transpiration.

When water potential of accessory cells increase ( )
1) Stomata open 2) Stomata closes
3) Stomata either opens or closes 4) Stomata neither opens nor closes
True statement regarding opening of stomata ( )
1) Wind is essential 2) Water potential gradient is essential
3) Light is essential. 4) Protons are essential. -
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24.  True statement regarding environmental factors is ( )
I: High wind velocity increases transpiration continuously
II: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.

IV: Light increases transpiration to certain extent

DI & 11 2) I & 111 3) Only IV 4)1IV & 11
25. Apparently the source of energy for keeping stomata open is ( )
1. Ion transfer 2.Transpiration
3. Photosynthesis 4.Hydrogen bond formation
26. Transpiration rate is inversely proportional to ( )

)Temperature 2) Light 3) Gentle breeze 4) High wind speeds

27 . Stomatal opening and closing depends on ( )
1)pH changes 2) Guard cell size
3) Size of stomatal chamber 4) Solute concentration of guard cells
28 .During stomatal closing ( )

) Protons move actively into guard cells 2) Protons moves passively into guard cells.

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

29. The reason that a column of water in a tall tree does not sink because of its weightis( )
1. The tensile strength of a column of water.

2. Bubbles form that are too large to be transported

3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels

30 .Stomata open during day and closes during night are called as ( )
1)Photoactive 2) Scotoactive
3)Amphiactive 4) Hypoactive \ | B
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31)Rate of the transpiration from the upper surface and lower surface of the

leaf can be known by ( )
1. Bell jar experiment 2.Cobalt chloride experiment
3. Ganong’s potometer 4.Ganong’s sunscreen

32) Assertion (A): The digestive action of salivary amylase stops when the swallowed bolus

Enters the stomach
Reason (R): Salivary amylase is inactivated at the low pH of gastric juice
a. Both A and R are true and the R is correct explanation of the A
b. Both A and R are true but the R is not correct explanation of the A
c. A is true, but the R is false
d. Both A and R are false

33) Match the following
Column - I Column-II
A) Haustra i) Palate
B) Uvula ii) Nasopalatine duct
) Sacculus rotundus iii) Pharynx
D) Jacobson’s organ iv) Colon
v) lleum
A B C B A B C D
a. v [ A% II b. v [ \Y II
c. I v I \Y d. I v 1 \Y

34) The papillae arranged in semicircle at the base of tongue are

a.Fungiform b. Filiform c. Foliate d. Circumvallate

35) Arrange the following parts in the stomach wall in the correct sequence from
theouter to the inner side
A. Circular muscle fibers B. Serosa C. Muscularis mucosa
D. Oblique muscle fibers E. Columnar epithelium F. Longitudinal muscle fibers

G. Submucosa

a.B-F-A-D-G-C-E  b.B-A-F-D-G-C-E <. B-F-A-G-D-C-E  d.B-F-A-D-C-G-E

F o

\\ mﬁfm - G

ik U
T H! - |ENCES
Avpéj\m;\c .

srmet (M),
eunthapally { N’
R.R. Dist

Tolangana.

. VO




36). The cells that are not found in the gastric gland of rabbit are

a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupffer cells

37) Choose the correct statement
a.Deficiency of protein intake causes kwashiorkor
b.Deficiency of fat intake causes marasmus disease
c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

38) choose the correct answer

Salivary glands  Character

I) Infra-orbital - Situated below the eye orbit

IT) Parotid - Open through Wharton’s duct

IIT) Sub maxillary - Open through Stensen’s duct

IV) Sub lingual - Situated below the tongue

a.land II b. Il and III c.llland I d.ITand IV

39) Amino acids are the only end products by the action of which of the following enzymes acts

on the protein constituents?

a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase d. Dipeptidase

40) The detoxifying organ of the body is
a. Liver b. Pancreas c. Spleen d. Bone marrow

41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataion
offood from the

a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach
¢. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach

42)  Formation of glucose in liver from non-carbohydrates is called

a.Glycogenesis b. Gluconeogenesis c. Lipogenesis d. Glycogenolysis




43) Match the followings

Cells Secretion
A) Zymogen Cells 1) Mucus
B) Neck Cells II) Pepsinogen
C) Parietal Cells I1T) Gastrin
D) G-Cells IV) Castle’s intrinsic factor
A B C D A B e D
a. I I v I b. I v [ 11
c. II v I I1 d. II I v I

44) Read the following
I. Health and vigour of epithelial tissues-vitamin A
I1. Health and integrity of muscles-vitamin E
I11. Integrity of endothelium -vitamin C
IV. Functioning of gonads-vitamin E
Which of the above are true?

a. All are true b. All except IV c. All except 11 d. All are false
45) Which of the following substances are absorbed into the cells and into blood by diffusion?
a.Amino acids b. Fructose

c. Short chain fatty acids d. Long chain fatty acids

46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their

action
a) Dipeptidase b) Pepsin c) Carboxypeptidase d) Tripeptidase e) Trypsin
a. e-b-d-c-a b. b-e-c-d-a c. c-a-d-b-e d.d-c-a-b-d

47) Mineral required for the formation of insulin is

a.Sulphur b. Iodine c. Cobalt  d. Copper )
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"48 ) Proteolytic enzymes which act in acidic medium are
a.Chymotrypsin, rennin . b. Pepsin, Rennin
c. Pepsinogen, Trypsinogen d. Pepsin, Trypsin
49) Correct statement from the following is
a.Pyloric sphincter regulates the flow of food in to the duodenum
b.Lower oesophageal sphincter prevents backward flow of food into duodenum
c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach and fundic stomach.

50) Stensen’s duct and wharton’s duct are associated with the following glands

a.Parotid & sub maxillary b. Parotid & sublingual
c. Sub maxillary & sublingual d. Sublingual & Infra orbital
51) Dietetics’ is related to the study of
a.Nutritional disorders b. Chemical nature of food
¢. Food stuff and nutrition d. Minerals & Vitamin

52) Decreased blood pressure, low pulse rate, lowers than normal body temperature and

mental retardation are the symptoms of

a.Obesity b. Marasmus ¢. Kwashiorkor d. Carcinoma

53). Many diseases can be diagnosed by observing the symptoms in the patient. Which groups of
symptoms are indicative of pneumonia?

a. Difficulty in respiration, fever, chills, cough, headache
b. Constipation, abdominal pain, cramps, blood clots
¢. Nasal congestion and discharge, cough, sore throat, headache
d. High fever, weakness, stomach pain, loss of appetite and constipation
54) Antibodies present in colostrum which protect the new born from certain diseases is of
a. Ig Gtype b.Ig Atype c.IgDtype d.IgE type
55). Identify the third line of defense from the following
a) NK cells b) Tears ¢) T cells d) Phagocytes
56) The chemical test that is used for diagnosis of typhoid is:

a. ELISA-Test b. ESR — Test ¢. PCR — Test d. Widal-Test\ .
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57) Acurrent is flowing due north along a powerline.The direction of the magnetic

field above it, neglecting the earth’s field is:
(1)North (2)East (3)South (4)West

58). Find the wrong statement among the following
a) Malignant tumors exhibit metastasis

b) Benign tumors are with a fibrous outer capsule
¢) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) Asquare conducting loop of length L on a side has a current‘i’in it. The magnetic

induction at the centre of the loop is
( 1)Independent of L (2)Directly proportional L

(3)Inversely proportional to L (4)Inversely proportional to L2

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, the reason
could be that:

a. The patient was not efficient at his work
b. The patient was not economically prosperous
c. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

61) When no external force is acting on a system of particles, the centre of mass of the system

1 ) Remains at rest only 2)Moves with constant velocity only
3 ) Moves with constant velocity or will be at rest 4) Moves with variable velocity

62) Field at the centre of circular coilo fradiusr,through which a currentI flows is
(1)Directly proportionaltor (2)Inversely proportionaltol
(3)Directly proportionaltol (4)Directly proportionaltol2

63) Lines of magnetic field around a current carrying straight conductor will be

1) Straight linesparallel to conductor

2) Circular in a plane parallel to conductor A

3) Circular in a plane perpendicular to conductor y e

4)Straight perpendicular to conductor B et IS ﬂ:\' CES
ANANT 21 SCENVES )
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~64) Magnetic induction at a point due to a small element of current carrying conductor is
1) Inversely proportional tothesquare of the distance of the point fromt the conductor
2) Inversely proportional to the distance of the poin tform theconductor
3) Directly proportional to the square of the length of conductor

4) Directly proportional to the square of the current

65) Imagine a man swimming along a current carrying conductor in a direction opposite to that
of current and facing the conductor. A magnetic needle free to rotate in a horizontal plane
is mounted on a stand under the wire. Then

1)The north pole of the needle e will deflect towards his left hand
2)The south pole of then needle willd deflect towards his left hand
3)Then needle will not deflect

4) Then needle will oscillate
66) Statement A: current is scalar.

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A is ture 4)Only B is true

67) Statement(A):Ampere’s laws tates that thel ine integral ofB.dtalonga closed path
Round the current carrying conductor is equal to Mol

Surface bounded by the closed path).

Statement(B): Ampere's law can be derived from Biotsavart'slaw.

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false
68) A vertical straight conductor carries a current vertically upwards. A point P lies to
the east of it as a small distance and another point Q lies to the west at the same

distance.The magnetic field at P is
a.Greater than at Q

b.Same as at Q

c.Less than at Q

=
>

d.Greater or less than a tQ depending upon the magnetic field of the cuxirent ~

Lmr._‘ vt ﬂh”ﬂz-
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69) Which of the following is a pair of viral diseases?

a) Typhoid and tuberculosis b) Ring worm and AIDS
¢) Common cold and AIDS d) Dysentery and common cold

70) Where will you look for the sporozoites of the malarial parasite?

a) RBCs of Humans suffering from malaria

b) Saliva of infected female anopheles mosquito
¢) Saliva of Infected female culex mosquito

d) Spleen of infected humans.

71) The current through a circular coil appears to be flowing in clock-wise direction for

an observer. The magnetic induction at the centre of the coil is:
e. Perpendicular to the plane of the coil and towards the observer
f. Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat45%at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the
magnetic field at the centre of the coil B.It is then bent into a circular loop of n

turns.The magnetic field at the centre of the coil will be:

1)nB 2)n2B 3)2nB 4)2n2B

73)The magnetic field at the centre of the current carrying coilis
1)Directed normal to plane of the coil 2)Directed parallel to plane ofthe coil

3)Zero 4)Radial from centre of the coil

14



74) The electric current in a circular coil of two turns produced a magnetic induction of
0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is, in tesla (if the same current flows in

the coil)

1)0.2 2)0.4 3)0.6 4)0.8

75) In an atom the electron has a time period of 0.16 x 10—15 s in a circular orbit of radius

0.5 A0.The magnetic induction at the centre of the orbit will be (in tesla)
1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of the arc is

Dol 2)W,i2R gtk 48R
77) The ratio of de Broglie wave lengths of two particles, having mass ratio 1 : 3 and kineticenergy

ratio2 : 1is
1)3:2
232
3)V2:\3
42 :3

78) In lanthanides, with increase in atomic number atomic radius decreases, except for the

element X, what X?
1)Gd

2)Eu

3)Tm

4)Dy
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79)  Dipole moment order of which of the following pairs of molecules is not correct?

DHF >HCl  2)H,S > CO, 3)NH; > NF, 4)CH, > CHCl,

80) XandY are the two covalent molecules in which the hybridization of the central atoms is

same, but shapes are different. X and Y are
a.XeF,, NH;
b.XeF,, PF;
c.BF;, H,O
d.CHy4, BeCl,

81) Atsame temperature and pressure, the rate of diffusion of gas ‘X’ is 33 times that of agaseous

hydrocarbon of molar mass 54g mol’. The molar mass of X in g mol ™ is
116
2)2
3)32
4)28
82) From the given reaction
2KMnO4+ 3H;S04 + 5H,0; 0 K,SO4 + 2MnSO, + 8H,0 + 50,
Find the normality of H,O; solution, if 20mL of it is required to react completely with 16mLof

0.02 MKMnOj solution. (Molar mass of KMnO, = 158 g mol ™)

1)4 x 102N
2)2 x 102N
3)6 x 102N
4)8 x10?N

16



83) At the temperature T(K) for the reaction X;04g) — 2XO3() AU = xkJ mol™, AS = y Jk ' mol’".
Gibbs energy change for the reaction is (Assume X,04, XO, are ideal gases)
1)1000 x + 2R (T - y)J mol™
2)1000 x + T (2R - y)J mol™
3)x+ T (2R - y)J mol™
4)x + 2R (T - y)J mol

84) Arrange the aqueous solutions of the following salts in the increasing order of pH
CuSO4 NaCN KCl

I II 111
DI<II<II
I <II<II
HII<II<I
HI <M <I

85) Be and Al show similarities in properties due to diagonal relationship except in the

property X given below. What is X?

1) Both form basic oxides and hydroxides
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have CI’ bridged chloride structure

4)Chlorides of both are soluble in organic solvents

86) In the structure of B,Hg, the number of BH, groups present in one plane, and the numberof B-H

bonds, B-B bonds, B-H-B bridge bonds are respectively

1)2,0,3,2

2)3,2,2,2 |

3)2,4,0,2 \\“\\ B /}Z\ o
4)2,4,2,0 \‘:‘; \—~ /\:: i

Gunthat
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87) Identify the incorrect statements from the following
L. Tin in +2 state acts as reducing agent while lead in +4 state acts as strong oxidizing agent
II. Silicon exists as both [SiFs]* and [SiClg]* forms
IIl. ~ The hybridization of carbon in fullerene is sp
IV. Among Ge, Sn and Pb lowest melting point is for Sn
DL IV 2) ILIV 3)ILITI 4) IILIV

88). Methane of the polluted air reacts with ozone and forms the compound
H- (1:¢ ~-H.CO,
n O
H
2)

3) CH,= CH-CHO, C,HsCHO
4) COz, H,0O

- §:E‘ -~H.CH,=CH-CHO
O

89)  Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide

givesl-Bromopropane as the major product

Reason (R): 1-Bromopropane is the major product because it is formed through the stablecarbocation

The correct answer is
1)(A) and (R) are correct, (R) is the correct explanation of (A)

2)(A) and (R) are correct but (R) is not the correct explanation of (A)
3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fec and other as bee with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fec and bee phasesapproximately is

1N1.5:1.0
2)1.0:1.5 '\\‘\\’\ . -
L R >
41:1.26 VANFET T Pces
) A"@{‘&Aﬁ-iﬁf": _ oiapurmet (M),
Guntna;;)\aﬁ:- {ist. Telangana.

18




keykkkkgu

91.Which of the following represents the hypercon jugation effect?

L. SC=C_ + " CN —3p

i

CH; —CH, - CH, —— Cl

&
@
) @
H H
| |
4 H——?'—?@ «——> H
H H

1) 1.2) 2 3) 3 4) 4

S .
—c—c
l
&
H H
| |
il CI?=C
|
H H

92).Freundlich adsorption isotherms for the physical adsorption of a gas at temperature

T1,T; and T; are shown in the graph given below. The correct relationship between

Tl, Tz and T3 is

;K

=

e 4
-
o

=

DT <Ty<T;s

DT:<T<T, 3)T3 <T,<T,

\\ —
4)T2 < T] < T3 ,\‘ - /7/}/
s M’:;"‘AL ,
i ER/X ‘Q’:‘ ._—T"i.’.i_JTE Or
,wmkm' L7+ oCIENCES
s ,A‘,:z‘a})“xﬁmt (M\’
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93). The ore which is concentrated by leaching
1)PbS
2)AL0;, 2H,0

3)81’102
4)FCQO3

94) Centre of mass of a body

1)Always lies inside the body 2) Always lies outside the body
3) Always lies on the surface of the body ~ 4) May lie inside or outside the body

95 )A bomb at rest explodes. The centre of mass of the system

1) Describes a parabola 2) Vertically upwards
3) Horizontally 4) Is at rest
96). Antigen presenting cells are
a) Dendritic cells b) Activated macrophages
c¢) B-Cells d)Dendritic cells, activated macrophages and B cells.

97) Which of the following chemicals is NOT involved in photochemical smog formation

1)SO, 2)0; 3)NO, 4)NO

98). Gamma interferons are produced by

a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell

99) The symbol of an element is Une. Its atomic number is

1110 2)109 3)101 4)108

100). An example for the less organised secondary lymphoid tissue

a) Thymus  b) Spleen c¢) Lymph nodes d) Mucosal - associated lymphoid tissue
\\ \ e
|\~ e sl
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1.  Maximum transpiration is by (1 \//

1) Stomata 2) Cuticle © 3) Lenticels 4) Cuticle & Lenticels
2.  Scotoactive stomata (-

1) Opens during day time 2) Opens during night time

3) Opens during Day & Night 4) Never opens P
3. Dumbbell shaped guard cells are seen in ( g‘//

1) All monocots 2) Liliaceae 3) Graminaceae 4) Dicotyledons
4. Source of protons during stomatal opening is

( 2Ny
1) Water 2) Sugars 3) Light 4) Malate \
(3 v

5: During opening of stomata, into the guard cells
I: Entry of K+ is active II: Entry of Cl is active
III: Export of H+ is active IV: Entry of H,O is active
Correct statements are
DI&I )& 3)I&II HI&IV ’
6. Trz:nspiration can be demonstrated by ( L/
1) Ganong’s potometer 2) Bell jar experiment
3) Hydrilla experiment 4) Barometer
7. The factors that show inversely proportional relationship with transpiration P

(
1) Temperature & Humidity

2) Availability of water & Very high velocity of wind
3) Light & Temperature ; -~
4) Humidity & Very high velocity of wind \
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10.

11.

12.

13.

14.

15.

Assertion (A): Spinous plants transpire less
Reason( R) : Spines are adoptions of xerophytic plants
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false 4) A is false, R is true
]
Natural anti transpirant in plants is

1) Auxin 2) Malate 3) Proton

Transpiration plays an indirect role in
1) Uptake & Transport of minerals 2) Absorption of water
3) Translocation of solutes 4) Distribution of water
Transpiration is a ‘necessary evil ‘- stated by

1) Slatyer . 2) Arnon 3) Knop

Phenyl mercuric acetate (PMA) is

1) An antibiotic used as an antitranspirant
2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

Enzymes that use ATP for their activity is
1) Kindses 2) Synthetases
3) Transferases 4) Hydrolases

Metallic co-factor in carboxy peptidase is

1)Fe 2)Mn 3)Zn

Third number in the enzyme nomenclature indicates

1)Sub-Subclass 2)SubClasses 3)Major Classes

\

\

i
e

4)Mg

2y

4) ABA

Y

( )
4) Curtis

(Y

( ')/\/

4)Serial number

—
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16.

17.

18.

19.

20.

21.

22.

23.

Protein part in a holo enzyme is (| \/)/
1) Apoenzyme 2)Simple enzyme

3)Conjugated enzyme 4)Inducive enzyme

The reaction CO,+ H,0 < H,COj3 requires ( ] \/)/
1) No enzyme 2)An emeyme

3)Very high temperatures 4)Very low temperatures

. Immunity that protects against intracellular bacteria, virus & cancer cells is ( L‘__>\/

a) Innate immunity b) Humoral immunity
¢) Non-specific immunity ~d) Cell mediated immunity

Stomatal Index is (
1) Ratio between stomata and leaf surface area

2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that
unit are ,

3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that

area. ;
Ascent of sap is movement of water from (2 5

1) Soil into Xylem 2) Xylem into leaves

3) Xylem into atmosphere 4) Leaves into atmosphere

Guttation is (] \/)/

1. Evidence of root pressure.
L}
2. Movement of water through the apoplast.
3. Movement of soluble organic materials through plants

4. Negative pressure created by transpiration.

e

When water potential of accessory cells increase ( ’ Ly

1) Stomata open 2) Stomata closes

3) Stomata either opens or closes 4) Stomata neither opens nor closes
True statement regarding opening of stomata ( 2_\/)

1) Wind is essential 2) Water potential gradient is essential

3) Light is essential. 4) Protons are essential.
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24,  True statement regarding environmental factors is (3\)/
I: High wind velocity increases transpiration continuously
IT: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.
IV: Light increases transpiration to certain extent

DI & 1T 2) I & I1I 3} Only IV 4HIV & 11

25. Apparently the source of energy for keeping stomata open is ( ’ !)/

1. Ion transfer 2.Transpiration
3. Photosynthesis 4.Hydrogen bond formation
26. Transpiration rate is inversely proportional to ( L‘/ )

I)Temperature 2) Light 3) Gentle breeze 4) High wind speeds

27 . Stomatal opening and closing depends on ( L‘/ )

1)pH changes 2) Guard cell size

3) Size of stomatal chamber 4) Solute concentration of guard cells—
28 .During stomatal closing (A \{

2) Protons move actively into guard cells 2) Protons moves passively into guard cells.

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

29. The reasqn that a column of water in a tall tree does not sink because of its weightis( ,L)/
1. The tensile strength of a column of water.

2. Bubbles form that are too large to be transported

3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels

P

30 .Stomata open during day and closes during night are called as ( l L/
1)Photoactive 2) Scotoactive

3)Amphiactive 4) Hypoactive

?911\3{‘%@3@\\%”_‘_? OF
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31)Rate of the transpiration from the upper surface and lower surface of the -
leaf can be known by (L
1. Bell jar experiment 2.Cobalt chloride experiment
3. Ganong’s potometer 4.Ganong’s sunscreen

32) Assertion (A): The digestive action of salivar¥ amylase stops when the swallowed bolus _

Enters the stomach C | 9/

Reason (R): Salivary amylase is inactivated at the low pH of gastric juice
a. Both A and R are true and the R is correct explanation of the A

b. Both A and R are true but the R is not correet explanation of the A

c. A is true, but the R is false

d. Both A and R are false -
33) Match the following Cb\,r -
Column -1 » Column-II
A) Haustra i) Palate
B) Uvula ii) Nasopalatine duct
C) Sacculus rotundus iii) Pharynx
D) Jacobson’s organ iv) Colon
v) lleum
A B C B A B C D
a. v I \Y 11 b. v I \Y 11
c. I v I \Y d. I v 111 \Y
]
34) The papillae arranged in semicircle at the base of tongue are (C"\/)/
a.Fungiform b. Filiform c. Foliate d. Circumvallate

35) Arrange the following parts in the stomach wall in the correct sequence from CC,/

theouter to the inner side
A. Circular muscle fibers B. Serosa C. Muscularis mucosa
D. Oblique muscle fibers E. Columnar epithelium F. Longitudinal muscle fibers
G. Submucosa
a. B-F-A-D-G-C-E  b.B-A-F-D-G-C-E  c. B-F-A-G-D-C-E  d. B-F-A-D-C-G-E
\\ “\‘A B TP
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36). The cells that are not found in the gastric gland of rabbit are Cd \/

a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupfter cells

37) Choose the correct statement CQL
a.Deficiency of protein intake causes kwashiorkor
b.Deficiency of fat intake causes marasmus diseade
c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

S
38) choose the correct answer C d 3/

Salivary glands  Character

I) Infra-orbital - Situated below the eye orbit

II) Parotid - Open through Wharton’s duct

IIT) Sub maxillary - Open through Stensen’s duct

IV) Sub lingual - Situated below the tongue

a.land II b. IT and III c.llland I d.Iand IV

39) Amino acids are the only end products by the action of which of the following enzymes acts

on the protein constituents? CC—
a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase .. d. Dipeptidase
40) The detoxifying organ of the body is C
a. Liver b. Pancreas c. Spleen d. Bone marrow

o~

41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataion (_0\3/
offood from the

a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach

c. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach
42)  Formation of glucose in liver from non-carbohydrates is called Cd
a.Glycogenesis b. Gluconeogenesis c¢. Lipogenesis d. Glycogenolysis

\!f\N L0 --"*"'”’
" i\;HAr" i _,;.‘.‘.';f:'pufmet L
Guﬂtha%s‘;’s bi ';",, Telangand:
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43) Match the followings

Cells Secretion /

A) Zymogen Cells  I) Mucus
B) Neck Cells IT) Pepsinogen
C) Parietal Cells IIT) Gastrin L}
D) G-Cells IV) Castle’s intrinsic factor

A B C D A B G D
a. III I v I b. I v I 1
c. III v I | II d I I v I

44) Read the following ( Lg/

L. Health and vigour of epithelial tissues-vitamin A
II. Health and integrity of muscles-vitamin E

I1I. Integrity of endothelium -vitamin C

IV. Functioning of gonads-vitamin E

Which of the above are true?

a. All are true b. All except IV c. All except II d. All are false

45)  Which of the following substances are absorbed into the cells and into blood by diffusion?
a.Amino acids b. Fructose ( C

c. Short chain fatty acids d. Long chain fatty acids
3

46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their (oqj/

action
a) Dipeptidase b) Pepsin ¢) Carboxypeptidase d) Tripeptidase e) Trypsin
a. e-b-d-c-a b. b-e-c-d-a c. c-a-d-b-e d.d-c-a-b-d

47) Mineral required for the formation of insulin is
a.Sulphur b. Iodine c. Cobalt  d. Copper
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48 .‘)AL‘J:,?“roteolytic enzymes which act in acidic medium are CC")/

Ma.Chymotrypsin, rennin b. Pepsin, Rennin
c. Pepsinogen, Trypsinogen d. Pepsin, Trypsin ‘
49) Correct statement from the following is ( &

a.Pyloric sphincter regulates the flow of food in to the duodenum
b.Lower oesophageal sphincter prevents backward flow of food into duodenum
c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach ahd fundic stomach.

50) Stensen’s duct and wharton’s duct are associated with the following glands ( '
a.Parotid & sub maxillary b. Parotid & sublingual

¢. Sub maxillary & sublingual d. Sublingual & Infra orbital

S1) Dietetics’ is related to the study of ( d
a.Nutritional disorders b. Chemical nature of food
¢. Food stuff and nutrition d. Minerals & Vitamin /7

/
s

52) Decreased blood pressure, low pulse rate, lowers than normal body temperature and @ 9/

mental retardation are the symptoms of

a.Obesity b. Marasmus c. Kwashiorkor d. Carcinoma

53). Many diseases can be diagnosed by observing the symptoms in the patient. Which groups -of
symptoms are indicative of pneumonia? A )\/

a. Difficulty in respiration, fever, chills, cough, headache
b. Constipation, abdominal pain, cramps, blood clots

c. Nasal congestion and discharge, cough, sore throat, headache
3

d. High fever, weakness, stomach pain, loss of appetite and constipation l/
54) Antibodies present in colostrum which protect the new born from certain diseases is of &b}

a. Ig Gtype b.Ig Atype c.IgDtype d.IgE type
$5). Identify the third line of defense from the following (C )/

56) The chemical test that is used for diagnosis of typhoid is:

a) NK cells b) Tears c) T cells d) Phagocytes \/ -

a. ELISA-Test b. ESR — Test ¢. PCR — Test d. Widal-Test \ |
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| 57) A current is flowing due north along a powerline.The direction of the magnetic -

field above it, neglecting the earth’s field is: C l
(1)North (2)East (3)South (4)West
P
58). Find the wrong statement among the following (C 9/
a) Malignant tumors exhibit metastasis

b) Benign tumors are with a fibrous outer capsQle
¢) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) A square conducting loop of length L on a side has a current‘i’in it. The magnetic

induction at the centre of the loop is C_Z)/
( 1)Independent of L : (2)Directly proportional L '
(3)Inversely proportional to L (4)Inversely proportional to L2

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, t\lyson

could be that: ( C. )

a. The patient was not efficient at his work
b. The patient was not economically prosperous
c. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

o

61) When no external force is acting on a system of particles, the centre of mass of the system C 3)

1 ) Remains at rest only 2)Moves with constant velocity only
3 ) Movés with constant velocity or will be at rest 4) Moves with variable velocity

62) Field at the centre of circular coilo fradiusr,through which a currentI flows is [SL)/

(1)Directly proportionaltor (2)Inversely proportionaltol .

o

(3)Directly proportionaltol (4)Directly proportionaltoI2 [//

63) Lines of magnetic field around a current carrying straight conductor will be CJ)
1) Straight linesparallel to conductor
2) Circular in a plane parallel to conductor \ \ -

3) Circular in a plane perpendicular to conductor "1 \

4)Straight perpendicular to conductor \ p?\l\\\gﬁi U7 'r.::_ OF
v _—‘— ’-,| AN :_v.v -.""_:_":ECC‘
& ‘}‘R\J'“P:NA;;I i Courmet (M)
H (it 3
Gur‘:th'ap 3“‘; slangan?
R.
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64{/Magnetic induction at a point due to a small element of current carrying conductor is C
1) Inversely proportional tothesquare of the distance of the point fromt the conductor
2) Inversely proportional to the distance of the poin tform theconductor
3) Directly proportional to the square of the length of conductor
4) Directly proportional to the square of the current
65) Imagine a man swimming along a current carrylng conductor in a direction opposite to that
of current and facing the conductor. A magnetic needle free to rotate in a horizontal plane
is mounted on a stand under the wire. Then CZ)
1)The north pole of the needle e will deflect towards his left hand
2)The south pole of then needle willd deﬂect towards his left hand
3)Then needle will not deflect

4) Then needle will oscillate
: (‘ )
66) Statement A: current is scalar.

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A is ture 4)Only B is true

67) Statement(A): Ampere’s laws tates that thel ine integral ofB.dtalonga closed path
Round the current carrying conductor is equal to Mol = (2’ )
Surface bounded by the closed path).

Statement(B):Ampere's law can be derived from Biotsavart'slaw.
L ]

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false
68) A vertical straight conductor carries a current vertically upwards. A point P lies to
the east of it as a small distance and another point Q lies to the west at the same

distance.The magnetic field at P is
a.Greater than at Q

b.Same as at Q \ % /
c.Less than at Q \\_— -
d.Greater or less than a tQ depending upon the magnetic field of the curr@rﬁf ' mr; )K o,
\/ NTM e ‘ Vﬂet
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69)- Which of the following is a pair of viral diseases? ‘ C_B)

a;“l" yphoid and tuberculosis b) Ring worm and AIDS
¢) Common cold and AIDS d) Dysentery and common cold /

v

70) Where will you look for the sporozoites of the malarial parasite? C 2 >

a) RBCs of Humans suffering from malaria

b) Saliva of infected female anopheles mosquito
¢) Saliva of Infected female culex mosquito

d) Spleen of infected humans.

71) The current through a circular coil appears to be flowing in clock-wise direction for

(2=

an observer. The magnetic induction at the centre of the coil is:

€. Perpendicular to the plane of the coil and towards the observer

o)

Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat450at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the
magnetic field at the centre of the coil B.It is then bent into a circular loop of n

turns.The magnetic field at the centre of the coil will be: ( y
4)2n2B

1)nB 2)n’B 3)2nB

3 e

g
73)The magnetic field at the centre of the current carrying coilis C , .)
1)Directed normal to plane of the coil 2)Directed parallel to plane ofthe coil

3)Zero 4)Radial from centre of the coil

NSTITUTE S
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74) The electric current in a circular coil of two turns produced a magnetic induction of
0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is, in tesla (if the same CWS in

the coil)

1)0.2 2)0.4 3)0.6 4)0.8

75) In an atom the electron has a time period of 0.16 x 10155 jn 4 circular orbit of radius

0.5 A0 The magnetic induction at the centre of the orbit will be (in tesla) (3\7/
1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of the arc is a—'}\(a/
D 2)Wei2R el 48R

77) The ratio of de Broglie wave lengths of two particles, having mass ratio 1 : 3 and Kineticenergy

ratio2 : 1 is s C

1)3:2 ,»
2)V3 : V2
3)V2:43
42 :3

78) In lanthanides, with increase in atomic number atomic radius decreases, except for the C'Z——{

element X, what X?

1)Gd - ' -
2)Eu \.\ \ [ >
3)Tm | M. e OF
4)Dy T | x ox
p\ll F\‘\ BN '\F | na
N gang?
2 u“ma?é‘ ?\ st
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’79) ~ Dipole moment order of which of the following pairs of molecules is not correct? (‘2_?/
1)HF > HCl 2)H,S > CO, 3)NH; > NF; 4)CH, > CHCl;

80) XandY are the two covalent molecules in which the hybridization of the central

atoms is
same, but shapes are different. X and Y are % U‘l"‘)/

a.XeF,, NH;
b.XeF,, PF;
¢.BF;, H,0
d.CH,, BeCl,

81) Atsame temperature and pressure, the rate of diffusion of gas ‘X’ is 33 times that of agseous

hydrocarbon of molar mass 54g mol!
1)16
2)2
3)32
4)28

- The molar mass of X in g mol! is ( 2_3/

82) From the given reaction

2KMnO, + 3H,S0, + SH;0; O K,SO04 + 2MnSO, + 8H,0 + 50, ( z

Find the normality of H:O; solution, if 20mL of it is required to react completely with 16mLof

0.02 MKMnOj solution. (Molar mass of KMnO, = 158 g mol ™)

1)4 x IO'ZN'
2)2x 102N
3)6 x 102N
48 x102N
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83)

At the temperature T(K) for the reaction X;04q) = 2XO2) AU = xkJ mol?, AS =y Jk™mol ..

Gibbs energy change for the reaction is (Assume X,0,, XO, are ideal gases)
1)1000 x + 2R (T - y)J mol Q%@

2)1000 x + T (2R - y)J mol™

3)x+ T (2R - y)J mol™

4)x + 2R (T - y)J mol™ *

/

84) Arrange the aqueous solutions of the following salts in the increasing order of pH C 2’5/

CuSO4 NaCN KCl

I II III
DI<II<III
2)I <M <II
DM < <I
HI<II<I

property X given below. What is X?

85) Be and Al show similarities in properties due to diagonal relationship except in the (7}@

1)Both form basic oxides and hydroxides
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have Cl” bridged chloride structure

4)Chloride$ of both are soluble in organic solvents

86 ) In the structure of B;Hs, the number of BH; groups present in one plane, and the numberof B-H

bonds, B-B bonds, B-H-B bridge bonds are respectively C_‘g )\/
1)2,0,3,2
253.2,2,2
3)2,4,0,2 \ \ g
472,4,2,0 frae——="" %,
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87) Identify the incorrect statements from the following (—’3

L. Tin in +2 state acts as reducing agent while lead in +4 state acts as strong oxidizing agent
II. Silicon exists as both [SiFs]* and [SiClg]* forms
Il The hybridization of carbon in fullerene is sp>
IV. Among Ge, Sn and Pb lowest melting point is for Sn
DLIV 2) ILIV 3)ILII 4) IILIV * " o

88). Methane of the polluted air reacts with ozone and forms the compound C L\{
H- ?{ —-H.CO, |

) O

C ~H.CH,=CH-CHO
) &

3) CH,= CH-CHO, C,HsCHO
4) CO,, H,0

H-C

89) Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide
givesl-Bromopropane as the major product (39/
Reason (R): 1-Bromopropane is the major product because it is formed through the stablecarbocation

The correct answer is
1)(A) and (R) are correct, (R) is the correct explanation of (A)
2)(A) and‘(R) are correct but (R) is not the correct explanation of (A)

3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fcc and other as bee with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fce and bec phasesapproximately is

D15: 1.0 ( 3‘7/

2)1.0:1.5
\\ ;
3)1.26 : 1 | S—
Pl 126 | " PRINCIPAE e oF
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91.Which of the following represents the hyperconjugation effect? ( Lf' 9/

i e/’
Lo C=C_ +"CN — ~C —C_
Lo
pe 14 CH3—CH2 —CHz-"—- 1
- @
GNE NH,
— °Q
3. , = g]
H H H H

D122 3 3 44

92).Freundlich adsorption isotherms for the physical adsorption of a gas at temperature

T1,T> and T; are shown in the graph given below. The correct relationship between

T1, Tz and T3 is C _-3 ‘j/

[# —

b
:!z

P -

DT <T,< T; 2)T3<T; < T, INT3<Ty< T, HT,<T; < T;

%
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93). The ore which is concentrated by leaching C 2

1)PbS

2)Al,03, 2H,0
3)Sn02
4)Fe,0, * )
94) Centre of mass of a body (L"\)\/
1)Always lies inside the body 2) Always lies outside the body

3) Always lies on the surface of the body . 4) May lie inside or outside the body

95 )A bomb at rest explodes. The centre of mass of the system C Lk\j/

1) Describes a parabola 2) Vertically upwards
3) Horizontally 4) Is at rest

96). Antigen presenting cells are ( %
' a) Dendritic cells b) Activated macrophages \"

¢) B-Cells d)Dendritic cells, activated macrophages and B cells.

97) Which of the following chemicals is NOT involved in photochemical smog formation ( ) 5/
SO, 2)0;  3)NO, 4)NO

98). Gamma interferons are produced by C 39/

a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell

99) The symbol of an element is Une. Its atomic number is ( '2_ \7/

1110 2)109 3)101 4)108
100). An example for the less organised secondary lymphoid tissue (ﬂ( j/

a) Thymus b) Spleen  ¢) Lymph nodes d) Mucosal - associated lymphoid tissue

X
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1. Maximum transpiration is by |\
1) Stomata 2) Cuticle 3) Lenticels 4) Cuticle & Lenticels

2. Scotoactive stomata (2.)
1) Opens during day time 2) Opens during night time
3) Opens during Day & Night 4) Never opens

3. Dumbbell shaped guard cells are seen in ( ;?/
1) All monocots 2) Liliaceae 3) Graminaceae 4) Dicotytedons

4. Source of protons during stomatal opening is ( q\/
1) Water 2) Sugars 3) Light 4) Malate

5. During opening of stomata, into the guard cells ( 3 )
[: Entry of K+ is active II: Entry of Cl is active /
III: Export of H+ is active [V: Entry of H,O ié active
Correct statements are
NDI&Il )& Il 3)1& 11 HI&IV

6. Tradlspiration can be demonstrated by (:V
1) Ganong’s potometer 2) Bell jar experiment
3) Hydrilla experiment 4) Barometer

7. The factors that show inversely proportional relationship with transpiration

G

1) Temperature & Humidity

2) Availability of water & Very high velocity of wind
3) Light & Temperature

4) Humidity & Very high velocity of wind




.
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10.

11.

12.

13.

14.

15.

Assertion (A): Spinous plants transpire less

Reason( R) : Spines are adoptions of xerophytic plants

(2)

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false 4) A is false, R is true

L

Natural anti transpirant in plants is

Gl

1) Auxin 2) Malate 3) Proton 4) ABA

Transpiration plays an indirect role in

1) Uptake & Transport of minerals 2) Absorption of water

3) Translocation of solutes 4) Distribution of water

Transpiration is a ‘necessary evil ‘- stated by

1) Slatyer . 2) Arnon 3) Knop

Phenyl mercuric acetate (PMA) is

1) An antibiotic used as an antitranspirant
2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

Enzymes that use ATP for their activity is
1) Kindses 2) Synthetases
3) Transferases . 4) Hydrolases

Metallic co-factor in carboxy peptidase is
1)Fe 2)Mn 3) Zn

Third number in the enzyme nomenclature indicates

1)Sub-Subclass 2)SubClasses 3)Major Classes

4 )
4) Curtg/—

)
)

(&(f

( 2)

4)Mg ]

( 2 %p
4)Serial number

\ \ -

\ \ ) -
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16.

17.

18.

19.

20.

21.

22,

23.

Protein part in a holo enzyme is V
1) Apoenzyme 2)Simple enzyme

3)Conjugated enzyme 4)Inducive enzyme

The reaction CO,+ H,0 «— H,COs requires \\y)/ -
1) No enzyme 2)An entyme

3)Very high temperatures 4)Very low temperatures

. Immunity that protects against intracellular bacteria, virus & cancer cells is CB %

a) Innate immunity b) Humoral immunity
¢) Non-specific immunity d) Cell mediated immunity

Stomatal Index is ( 'LyL

1) Ratio between stomata and leaf surface area

2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that

unit are
3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that

area.

Ascent of sap is movement of water from L(})/ B
1) Soil into Xylem 2) Xylem into leave‘s'

3) Xylem into atmosphere 4) Leaves into atmosphere

[
Guttation is ( %
2=

1. Evidence of root pressure.
2. Movement of water through the apoplast.
3. Movement of soluble organic materials through plants

4, Negative pressure created by transpiration.

When water potential of accessory cells increase (
1) Stomata open 2) Stomata closes &/)/‘
3) Stomata either opens or closes 4) Stomata neither opens nor closes
True statement regarding opening of stomata ( Q_y)L
1) Wind is essential 2) Water potential gradient is essential : )
3) Light is essential. 4) Protons are essential. "’
|V pranciERe
| ARG




24.  True statement regarding environmental factors is ( ‘7/7)L
I: High wind velocity increases transpiration continuously (

II: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.
IV: Light increases transpiration to certain extent

DI& II 2) 11 & III 3} Only v HIV &I

25. Apparently the source of energy for keeping stomata open is ( ‘3}4

1. Ion transfer 2.Transpiration ‘

3. Photosynthesis 4.Hydrogen bond formation

26. Transpiration rate is inversely proportional to

*o—
I)Temperature 2) Light 3) Gentle breeze 4) High wind speeds

27 . Stomatal opening and closing depends on ( 2 Vk
1)pH changes 2) Guard cell size
3) Size of stomatal chamber 4) Solute concentration of guard cells

28 .During stomatal closing (Y B

2) Protons move actively into guard cells 2) Protons moves passively into guard cells.

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

29. The reasaqn that a column of water in a tall tree does not sink because of its weightis(1)

1. The tensile strength of a column of water. C —
2. Bubbles form that are too large to be transported

3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels

30 .Stomata open during day and closes during night are called as () '
1)Photoactive 2) Scotoactive \/
3)Amphiactive 4) Hypoactive | ,,@//ﬂ

| E
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31)Rate of the transpiration from the upper surface and lower surface of the

leaf can be known by (2 )
1. Bell jar experiment 2.Cobalt chloride experiment C——
3. Ganong’s potometer 4.Ganong’s sunscreen

32) Assertion (A): The digestive action of saliva® amylase stops when the swallowed bolus

Enters the stomach w/

Reason (R): Salivary amylase is inactivated at the low pH of gastric juice
a. Both A and R are true.and the R is correct explanation of the A

b. Both A and R are true but the R is not correct explanation of the A

C. A is true, but the R is false

d. Both A and R are false

33) Match the following (e Q/

Column - 1 _ Column-II
A) Haustra i) Palate
B) Uvula ii) Nasopalatine duct
6] Sacculus rotundus iii) Pharynx
D) Jacobson’s organ iv) Colon
v) [leum
A B C B A B C D
a. v I \Y II b. v I \Y 11
C. I v II \Y% d. I v 11 \Y
L ]
34) The papillae arranged in semicircle at the base of tongue are &@//
a.Fungiform b. Filiform c. Foliate d. Circumvallate

35) Arrange the following parts in the stomach wall in the correct sequence fro@/@/ )
theouter to the inner side |
A. Circular muscle fibers B. Serosa C. Muscularis mucosa
D. Oblique muscle fibers E. Columnar epithelium F. Longitudinal muscle fibers
G. Submucosa

a. B-F-A-D-G-C-E  b. B-A-F-D-G-C-E  ¢.B-F-A-G-D-C-E  d.B-F-A-D-C-G-E .

{
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36). The cells that are not found in the gastric gland of rabbit are(‘) )
a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupffer cells

37) Choose the correct statement( A) /

a.Deficiency of protein intake causes kwashiorkor
b.Deficiency of fat intake causes marasmus diseade
c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

38) choose the correct answer < D ) | e
Salivary glands  Character ‘
I) Infra-orbital - Situated below the eye orbit
IT) Parotid - Open through Wharton’s duct
IIT) Sub maxillary - Open through Stensen’s duct
IV) Sub lingual - Situated below the tongue
a.land Il b. Il and III c.lIland I d.Tand IV

39) Amino acids are the only end products by the action of which of the following enzymes acts< ¢ \ 7

on the protein constituents?

a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase .. d. Dipeptidase
40) The detoxifying organ of the body is (. D ) P
a. Liver b. Pancreas c. Spleen d. Bone marrow
]
41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataio ( D)
offood from the b(
a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach
c. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach
42) Formation of glucose in liver from non-carbohydrates is called \_(D}/
a.Glycogenesis b. Gluconeogenesis c. Lipogenesis d. Glycogenolysis
\\
; I ol |
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43) Match the followings

Cells Secretion
A) Zymogen Cells  I) Mucus
B) Neck Cells II) Pepsinogen
C) Parietal Cells IIT) Gastrin L}
D) G-Cells IV) Castle’s intrinsic factor

A B C D A B C

a. I I v I b. II v I
¢ II v I | II d I I v

44) Read the following ( i) /

L. Health and vigour of epithelial tissues-vitamin A
IL. Health and integrity of muscles-vitamin E

III. Integrity of endothelium -vitamin C

IV. Functioning of gonads-vitamin E

Which of the above are true?

a. All are true b. All except IV

c. All except II

11
III

d. All are false

45) Which of the following substances are absorbed into the cells and into blood by diffusion? (&)

a.Amino acids b. Fructose

c. Short chain fatty acids
]

A

d. Long chain fatty acids

46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their ( %

action

a) Dipeptidase b) Pepsin

a. e-b-d-c-a b. b-e-c-d-a

c. c-a-d-b-e

47) Mineral required for the formation of insulin is
a.Sulphur b. Iodine c. Cobalt  d. Copper

c) Carboxypeptidase d) Tripeptidase
d.d-c-a-b-d

(D )0%\ ’

e) Trypsin
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48) i’roteolytic enzymes which act in acidic medium are ( ¢ \L/
£ : . ; :
a.Chymotrypsin, rennin b. Pepsin, Rennin
c. Pepsinogen, Trypsinogen d. Pepsin, Try
49) Correct statement from the following is C C) (
a.Pyloric sphincter regulates the flow of food in to the duodenum
b.Lower oesophageal sphincter prevents backward flow of food into duodenum
c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach ahd fundic stomach.

S50) Stensen’s duct and wharton’s duct are associated with the following glands L D)
a.Parotid & sub maxillary b. Parotid & sublingual -

c. Sub maxillary & sublingual d. Sublingual & Infra orbital

S1)  Dietetics’ is related to the study of %
a.Nutritional disorders b. Chemical nature of food
¢. Food stuff and nutrition d. Minerals & Vitamin

52) Decreased blood pressure, low pulse rate, lowers than normal body temperature ar\1d<%)

mental retardation are the symptoms of

a.Obesity b. Marasmus ¢. Kwashiorkor d. Carcinoma

53). Many diseases can be diagnosed by observmg)the symptoms in the patient. Which groups of

symptoms are indicative of pneumonia? ( V

a. Difficulty in respiration, fever, chills, cough, headache
b. Constipation, abdominal pain, cramps, blood clots
c. Nasal congestion and discharge, cough, sore throat, headache
3
d. High fever, weakness, stomach pain, loss of appetite and constipation
54) Antibodies present in colostrum which protect the new born from certain diseases is\w
a. IgGtype b.Ig Atype c.IgDtype d.IgE type
55). Identify the third line of defense from the following C 6)/

a) NK cells b) Tears c) T cells d) Phagocytes

56) The chemical test that is used for diagnosis of typhoid is: ( D) /
a. ELISA-Test b. ESR — Test ¢. PCR — Test d. Widal-Test '\\\“\

N
\ = 74
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37) Acurrent isflowing due north along a powerline.The direction of the magnetic

field above it, neglecting the earth’s field is: (A ) £t
(1)North (2)East (3)South (4)West

58). Find the wrong statement among the following (B\ ﬂL
a) Malignant tumors exhibit metastasis &

b) Benign tumors are with a fibrous outer capsgle
c) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) Asquare conducting loop of length L on a side has a current‘i’in it. The magneti\&

induction at the centre of the loop is
( 1)Independent of L : (2)Directly proportional L

(3)Inversely proportional to L (4)Inversely proportional to .2

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, the reason C D \
could be that: y

a. The patient was not efficient at his work
b. The patient was not economically prosperous
c. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

61) When no external force is acting on a system of particles, the centre of mass of the systw

1 ) Remains at rest only 2)Moves with constant velocity only
3 ) Movés with constant velocity or will be at rest 4) Moves with variable velocity

62) Field at the centre of circular coilo fradiusr,through which a currentI flows iscy—ﬂ

(1)Directly proportionaltor (2)Inversely proportionaltol

(3)Directly proportionaltol (4)Directly proportionaltol2

63) Lines of magnetic field around a current carrying straight conductor will bew /
1) Straight linesparallel to conductor
2) Circular in a plane parallel to conductor
3) Circular in a plane perpendicular to conductor

4)Straight perpendicular to conductor
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64Ly[agnetic induction at a point due to a small element of current carrying conductor is C [
1) Inversely proportional tothesquare of the distance of the point fromt the conductor
2) Inversely proportional to the distance of the poin tform theconductor
3) Directly proportional to the square of the length of conductor
4) Directly proportional to the square of the current
65) Imagine a man swimming along a current c‘arrying conductor in a direction opposite to that
of current and facing the conductor. A magnetic needle free to rotate in a horizontal plane

is mounted on a stand under the wire. Then (k\//
1)The north pole of the needle e will deflect towards his left hand

2)The south pole of then needle willd deflect towards his left hand
3)Then needle will not deflect

4) Then needle will oscillate

66) Statement A: current is scalar. C ? >7)\i

[ g

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A isture  4)Only B is true

67) Statement(A):Ampere’s laws tates that thel ine integral ofB.dfalonga closed path
Round the current carrying conductor is equal to pi

Surface bounded by the closed path).
Statement(B): Ampere's law can be derived from Biotsavart’slaw.\_l)/

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false

68) A vertical straight conductor carries a current vertically upwards. A point P lies to

the east of it as a small distance and another point Q lies to the west at the W

distance.The magnetic field at P is
a.Greater than at Q

b.Same as at Q

\ —
c.Less than at Q \x \ B {3‘
d.Greater or less than a tQ depending upon the magnetic field of the currenfiQ 3 i“%l
AVANTH AL St
PHAR
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69)-Which of the following is a pair of viral diseases? C,\ ) ,7L

&}*l“ yphoid and tuberculosis b) Ring worm and AIDS
¢) Common cold and AIDS d) Dysentery and common cold

70) Where will you look for the sporozoites of the malarial parasite? ( l\
a) RBCs of Humans suffering from malaria
b) Saliva of infected female anopheles mosquito

¢) Saliva of Infected female culex mosquito
d) Spleen of infected humans,

71) The current through a circular coil appears to be flowing in clock-wise direction for

an observer. The magnetic induction at the centre of the coil is: (1)\<

€. Perpendicular to the plane of the coil and towards the observer

f. Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat450at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the

magnetic field at the centre of the coil B.It is then bent into a cir

turns.The magnetic field at the centre of the coil will be: LU/

1)nB 2)n2B 3)2nB 4)2n2B

cular loop of n

73)The magnetic field at the centre of the current carrying coilis C | \/

)Directed normal to plane of the coil 2)Directed parallel to plane ofthe coil

3)Zero 4)Radial from centre of the coil
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74) The electric current in a circular coil of two turns produced a magnetic induction of

0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is,

the coil) Clt/ 2—/ .

1)0.2 2)0.4 3)0.6 4)0.8

in tesla (if the same current flows in

75) In an atom the electron has a time period of 0.16 x 1015 s in a circular orbit of radius

0.5 A0.The magnetic induction at the centre of the orbit will be (in tesla) C .S>>L
1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of t

he arc is ‘Q‘t’)/
D, 2)Ui2R 3 4)u,i8R

77) The ratio of de Broglie wave lengths of two particles,

ratio2 : 1 is (7/> -

o

having mass ratio 1 : 3 and kineticenergy

3:2
2)V3 12
3)V2:43
492 :3

78) In lanthanides, with increase in atomic number atomic radius decreases,

element X, what X? V .
1)Gd

" \ rs
2)Eu x i
3)Tm |

4)Dy ?R "tlu

s TH' . lﬂemﬂ
AVQ\E‘AQ B it

G\J\'\‘\"VVRJ‘ b‘:ﬂ \6’

except for the
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79) Dipole moment order of which of the following pairs of molecules is not correct? ( \}L
1)HF > HCl 2)H,S > CO, 3)NH; > NF; 4)CH, > CHCl, ;

80) XandY are the two covalent molecules in which the hybridization of the central atoms is

same, but shapes are different. X and Y are %

(W)
a.XeF4, NH3 /

b.Xer, PF5
C.BF3, HzO
d.CH,, BeCl,

81) Atsame temperature and pressure, the rate of diffusion of gas ‘X’ is 3V3 times that of agaseous

hydrocarbon of molar mass 54g mol™’. The molar mass of X in g mol™ is ( —£>)<
1)16 =

2)2
3)32
4)28
82) From the given reaction
2KMnOy + 3H,SO,4 + 5H,0, 0 K,S0, + 2MnSO4 + 8H,0 + 50,
Find the normality of H,0, solution, if 20mL of it is required to react completely with 16mLof
0.02 MKMnOj solution. (Molar mass of KMnO, = 158 g mol ™)

o
]
14 x 102N
2)2x 102N
| 3)6 x 102N
48 x10%N

s
»
Z

RR U".S» 18I
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83) At the temperature T(K) for the reaction X,O4q — 2XO2() AU = xkJ mol ™, AS =y Jk'mol .

Gibbs energy change for the reaction is (Assume X,0,, XO, are ideal gases) ({LX
1)1000 x + 2R (T - y)J mol ,
2)1000 x + T (2R - y)J mol™
3)x+ T (2R - y)J mol™
4)x + 2R (T - y)J mol™ *

84) Arrange the aqueous solutions of the following salts in the increasing order of pH
cuso, NacN ka1 (A /

I 1I III
DI<II<II
DI<MI<II
HIM<I<I
HI<II<I

85) Be and Al show similarities in properties due to diagonal relationship except in the (@L
property X given below. What is X? £ e

1)Both form basic oxides and hydroxides
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have CI” bridged chloride structure

4)Chloride$ of both are soluble in organic solvents

86) In the structure of BHg, the number of BH; groups present in one plane, and the numberof B-H
bonds, B-B bonds, B-H-B bridge bonds are respectively

(3) ~
L

1)2,0,3,2
2)3,2,2,2
3)2,4,0,2 \ a\ .
4)2,4,2,0 \ ki R

' e
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87) Identify the incorrect statements from the following C 1}/

L. Tin in +2 state acts as reducing agent while lead in +4 state acts as strong oxidizing agent
II. Silicon exists as both [SiFs]* and [SiCls]* forms

III.  The hybridization of carbon in fullerene is sp°
IV.  Among Ge, Sn and Pb lowest melting point is for Sn

DLIV 2) ILIV 3)ILIT 4) MLIV %

88). Methane of the polluted air reacts with ozone and forms the compound ( 9/\

H-C~H €0,

o
1)

H- ;: —~H.CH,=CH-CHO
) &
3) CH,= CH-CHO, C,Hs;CHO
4) CO,, H,0

89) Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide

givesl-Bromopropane as the major product QBQ//

Reason (R): 1-Bromopropane is the major product because -t is formed through the stablecarbocation

The correct answer is

1)(A) and (R) are correct, (R) is the correct explanation of (A)

2)(A) and‘(R) are correct but (R) is not the correct explanation of (A)

3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fcc and other as bec with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fcc and bee phasesapproximately is

DL5: 1.0 .
2)1.0: 1.5 L/@Aﬁ

\ s
3)1.26 : 1 \\
4Hl:1.2 \ " ontucIPAL
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91.Which of the following represents the hyperconjugation effect?

ED—

L D=7 +-oN — e
|
Fadh |
2 CH3;—CH, —CH, —»— 1
NEH, N
(\; ® 4 NHQ
Tl s Y
H g H 17
| I | |
4 Hﬁ?*?e —s o (}j:t!:
H H H H

Ty, T2 and T is (41 )

» 3K

m

P \\ -
1)T1<T2<T3

v\ =
\ \ N

IT<Ti<Ty HT3<T,<T, HT,<T; < T, \

<
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93). The ore which is concentrated by leaching C ] )
1)PbS

2)AL0;, 2H,0

3)SnO,
4)Fe,0,

94) Centre of mass of a body C 4 \
D)Always lies inside the body

3) Always lies on the surface of the body . 4) May

2) Always lies outside the body
lie inside or outside the body

95 )A bomb at rest explodes. The centre of mass of the system W
1) Describes a parabola
3) Horizontally

2) Vertically upwards
4) Is at rest
96). Antigen presenting cells are é# ) \/
' a) Dendritic cells
¢) B-Cells i

b) Activated macrophages
d)Dendritic cells, activated macrophages and B cells

97) Which of the following chemicals is NOT involved in photochemical smog formatio
1)SO, 2)0;

3)NO,

(4)

4HNO b(
N
98). Gamma interferons are produced by Cg) -
]
a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell
99) The symbol of an element is Une. Its atomic number is C %\/
110 2)109 3)101 4)108
N example for the less organised secondary lymphoid tissue .
100). A le for the | ised secondary lymphoid ti C"[)/
a) Thymus  b) Spleen c¢) Lymph nodes d) Mucosal - associated lymphoid tissue
\1 \ pr— »—f-;».{/"/
\ \\ " = oA
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Gunthapally(V), Abdullapurmet(M), Ranga Reddy Dist.501512
FREESHIP EXAMINATIONTEST
2020-21

Total Marks: 100 Duration: 180mii

Name of the student: P Halsﬁbfh‘\) Date: \:}l“ ‘2010
Avanthi Freeship No: AT PS 202 D © C}S/

1. Maximum transpiration is by (1 /
1) Stomata 2) Cuticle “ 3) Lenticels 4) Cuticle & Lenticels

2. Scotoactive stomata ( 'Z)//
1) Opens during day time 2) Opens during night time
3) Opens during Day & Night 4) Never opens

3. Dumbbell shaped guard cells are seen in ( Zd\
1) All monocoté 2) Liliaceae 3) Graminaceae 4) Dicotyledons

4. Source of protons during stomatal opening is ( (y '
1) Water 2) Sugars 3) Light 4) Malate

S. During opening of stomata, into the guard cells ( 3}/
I: Entry of K+ is active II: Entry of Cl is active
III: Export of H+ is active IV: Entry of HO is active
Correct statements are
DI&I DN&I 3HI&I 4HI&IV /

6. Transpiration can be demonstrated by (/Z/
1) Ganong’s potometer 2) Bell jar experiment
3) Hydrilla experiment 4) Barometer

T The factors that show inversely proportional relationship with transpiration

(y)~
1) Temperature & Humidity
2) Availability of water & Very high velocity of wind
3) Light & Temperature \ |

4) Humidity & Very high velocity of wind ‘\ \ -

- N ‘_
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10.

11.

12.

13.

14.

15.

Assertion (A): Spinous plants transpire less ( &9‘ )
Reason( R) : Spines are adoptions of xerophytic plants
1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false 4) A is false, R is true
%
Natural anti transpirant in plants is ( Ly )
1) Auxin 2) Malate 3) Proton 4) ABA
Transpiration plays an indirect role in ( 3/
1) Uptake & Transport of minerals 2) Absorption of water
3) Translocation of solutes 4) Distribution of water
Transpiration is a ‘necessary evil ‘- stated by (
1) Slatyer . 2) Arnon 3) Knop ' 4) Curtis

Phenyl mercuric acetate (PMA) is ( 3/

1) An antibiotic used as an antitranspirant
2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

Enzymes that use ATP for their activity is ' ( %)
1) Kindses 2) Synthetases

3) Transferases . 4) Hydrolases ,
Metallic co-factor in carboxy peptidase is (3/)'/

1)Fe 2)Mn 3)Zn 4)Mg

Third number in the enzyme nomenclature indicates FK)

1)Sub-Subclass 2)SubClasses 3)Major Classes 4)Serial number

PAL |
255 ",’"!_"',-g.E O-i,.,
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16.

17.

18.

19.

20.

21.

22,

23.

Protein part in a holo enzyme is (')
1) Apoenzyme 2)Simple enzyme

3)Conjugated enzyme 4)Inducive enzyme

The reaction CO,+ H,0 — H,COj; requires ( /
1) No enzyme 2)An entyme

3)Very high temperatures 4)Very low temperatures

. Immunity that protects against intracellular bacteria, virus & cancer cells is

3 7
a) Innate immunity b) Humoral jimmunity Lé\
¢) Non-specific immunity d) Cell mediated immunity !
Stomatal Index is ( %

1) Ratio between stomata and leaf surface area

2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that
unit are

3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that

area.
Ascent of sap is movement of water from ( )

1) Soil into Xylem 2) Xylem into leaveg

3) Xylem into atmosphere 4) Leaves into atmosphere

Guttation is ( {\)/
1. Evidence of root pressure.

2. M;vement of water through the apoplast.

3. Movement of soluble organic materials through plants

4. Negative pressure created by transpiration.

When water potential of accessory cells increase ( }./)/
1) Stomata open 2) Stomata closes

3) Stomata either opens or closes 4) Stomata neither opens nor closes

True statement regarding opening of stomata ] )
1) Wind is essential 2) Water potential gradient is essential
3) Light is essential. 4) Protons are essential.

\% - ot
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24.  True statement regarding environmental factors is ( \3/)
I: High wind velocity increases transpiration continuously
II: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.
IV: Light increases transpiration to certain extent

DI&II 2) 11 & III 3} Only v 41V & 11

25. Apparently the source of energy for keeping stomata open is ( %Q

1. Ion transfer 2.Transpiration
3. Photosynthesis 4. Hydrogen bond formation
26. Transpiration rate is inversely proportional to ( H % '

1)Temperature 2) Light 3) Gentle breeze 4) High wind speeds

27 . Stomatal opening and closing depends on ( L( |
1)pH changes 2) Guard cell size
3) Size of stomatal chamber 4) Solute concentration of guard cel 4
28 .During stomatal closing ( ) -//b

2) Protons move actively into guard cells 2) Protons moves passively into guard cells.

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

/

/
29. The reasan that a column of water in a tall tree does not sink because of its weightisy((k{

1. The tensile strength of a column of water.
2. Bubbles form that are too large to be transported

3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels //
30 .Stomata open during day and closes during night are called as ( \ )

1)Photoactive 2) Scotoactive

3)Amphiactive 4) Hypoactive \
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31)Rate of the transpiration from the upper surface and lower surface of the

leaf can be known by (al/)
1. Bell jar experiment 2.Cobalt chloride experiment
3. Ganong’s potometer 4.Ganong’s sunscreen

32) Assertion (A): The digestive action of saliva® amylase stops when the swallowed bolus

Enters the stomach

Reason (R): Salivary amylase is inactivated at the low pH of gastric juice L I ) 7

P
a. Both A and R are true and the R is correct explanation of the A P

b. Both A and R are true but the R is not correct explanation of the A
c. A is true, but the R is false
d. Both A and R are false

33) Match the following
Column - I Column-II LC/%{
A) Haustra i) Palate 7N
B) Uvula ii) Nasopalatine duct
) Sacculus rotundus iii) Pharynx
D) Jacobson’s organ iv) Colon
v) lleum

A B C B A B C D
a. 1\Y I \Y I b. v I \Y I
c. I v II \Y d. I v I \Y

L ]

s

34) The papillae arranged in semicircle at the base of tongue are

a.Fungiform b. Filiform c. Foliate d. Circumvallate

,«//’
//’
//
35) Arrange the following parts in the stomach wall in the correct sequence from v
theouter to the inner side )
A. Circular muscle fibers B. Serosa C. Muscularis mucosa
D. Oblique muscle fibers E. Columnar epithelium F. Longitudinal muscle fibers
G. Submucosa
a.B-F-A-D-G-C-E  b.B-A-F-D-G-C-E  ¢.B-F-A-G-D-C-E  d. B-F-A-D-C-G-E B
|\ PRINCIPAL |
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36). The cells that are not found in the gastric gland of rabbit are /
a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupffer cells \%

37) Choose the correct statement
a.Deficiency of protein intake causes kwashiorkor A d
b.Deficiency of fat intake causes marasmus disease Q‘Vk )
c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

38) choose the correct answer '
: cdJ
Salivary glands  Character
D) Infra-orbital - Situated below the eye orbit
IT) Parotid - Open through Wharton’s duct
IIT) Sub maxillary - Open through Stensen’s duct
IV) Sub lingual - Situated below the tongue
a.land II b. Il and III c.lland I d.Iand IV

39) Amino acids are the only end products by the action of which of the following enzymes acts

yo?
CC)

on the protein constituents?

a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase .. d. Dipeptidase
40) The detoxifying organ of the body is C @\
a. Liver b. Pancreas c. Spleen d. Bone marrow
]
41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataion
offood from the (2
a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach
c. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach
ol
42) Formation of glucose in liver from non-carbohydrates is called W/
a.Glycogenesis b. Gluconeogenesis  c¢. Lipogenesis d. Glycogenolysis
\ | i
| S
\, \»,_,./f -~
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43) Match the followings C ] )
Cells Secretion

A) Zymogen Cells  I) Mucus

B) Neck Cells IT) Pepsinogen

C) Parietal Cells IIT) Gastrin L

D) G-Cells IV) Castle’s intrinsic factor
A B C D A B C D

a. III I v I b. I v I I

g III v I | I d I I v I

44) Read the following C /é )

L. Health and vigour of epithelial tissues-vitamin A
II. Health and integrity of muscles-vitamin E

III. Integrity of endothelium -vitamin C

IV. Functioning of gonads-vitamin E

Which of the above are true?

a. All are true - b. All except IV c. All except II d. All are false

45) Which of the following substances are absorbed into the cells and into blood by diffusion?
a.Amino acids b. Fructose B

c. Short chain fatty acids d. Long chain fatty acids
2

46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their

action (. )

a) Dipeptidase b) Pepsin ¢) Carboxypeptidase d) Tripeptidase

e) Tryps
a. e-b-d-c-a b. b-e-c-d-a c. c-a-d-b-e d.d-c-a-b-d
47) Mineral required for the formation of insulin is L ' /
a.Sulphur b. Iodine c. Cobalt  d. Copper
\ \ -
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48“‘)4 Proteolytlc enzymes which act in acidic medium are
' a Chymotrypsin, rennin b. Pepsin, Rennin W
e Pepsinogen, Trypsinogen d. Pepsin, Trypsin
49) Correct statement from the following is
a.Pyloric sphincter regulates the flow of food in to the duodenum
b.Lower oesophageal sphincter prevents backward flow of food into duodenum

c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach ahd fundic stomach,

S0) Stensen’s duct and wharton’s duct are associated with the following glands

a.Parotid & sub maxillary b. Parotid & sublingual
¢. Sub maxillary & sublingual d. Sublingual & Infra orbital
51) Dietetics’ is related to the study of (09
a.Nutritional disorders b. Chemical nature of food
c. Food stuff and nutrition d. Minerals & Vitamin
52) Decreased blood pressure, low pulse rate, lowers than normal body temperature and
mental retardation are the symptoms of Ld 2
a.Obesity b. Marasmus ¢. Kwashiorkor d. Carcinoma

53). Many diseases can be diagnosed by observing the symptoms in the patient. Which groups of
symptoms are indicative of pneumonia? C ’ )

a. Difficulty in respiration, fever, chills, cough, headache s
b. Constipation, abdominal pain, cramps, blood clots
c. Nasal congestion and discharge, cough, sore throat, headache

]

d. High fever, weakness, stomach pain, loss of appetite and constipation

54) Antibodies present in colostrum which protect the new born from certain diseases is of

a. Ig Gtype b.Ig Atype c.IgDtype d.IgE type (bj/
55). Identify the third line of defense from the following L 17L D\
a) NK cells b) Tears c) T cells d) Phagocytes
56) The chemical test that is used for diagnosis of typhoid is: W
a. ELISA-Test b. ESR - Test c. PCR — Test d. Widal-Test " _—
\.\“ ‘\\'\ ,,r“ = /
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57) -A current is flowing due north along a powerline.The direction of the magnetic

field above it, neglecting the earth’s field is:

(1)North (2)East (3)South (4)West U)/
58). Find the wrong statement among the following d
a) Malignant tumors exhibit metastasis C )

b) Benign tumors are with a fibrous outer capsyle
¢) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) A square conducting loop of length L on a side has a current‘i’in it. The magnetic

induction at the centre of the loop is @
( 1Independent of L : (2)Directly proportional L '
(3)Inversely proportional to L (4)Inversely proportional to L2

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, the reason '/
could be that:

, Q}j/
a. The patient was not efficient at his work
b. The patient was not economically prosperous

c. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

61) When no external force is acting on a system of particles, the centre of mass of the system

1 ) Remains at rest only 2)Moves with constant velocity only
3 ) Movés with constant velocity or will be at rest 4) Moves with variable velocity ( )

62) Field at the centre of circular coilo fradiusr,through which a currentl flows is

(1)Directly proportionaltor (2)Inversely proportionaltol

- T3
(3)Directly proportionaltol (4)Directly proportionaltol2

63) Lines of magnetic field around a current carrying straight conductor will be

1) Straight linesparallel to conductor

2) Circular in a plane parallel to conductor (99/

3) Circular in a plane perpendicular to conductor

s

4)Straight perpendicular to conductor | P

PHARM:
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642§Iagnetic induction at a point due to a small element of current carrying conductor is
1) Inversely proportional tothesquare of the distance of the point fromt the conductor
2) Inversely proportional to the distance of the poin tform theconductor L [ )
3) Directly proportional to the square of the length of conductor

4) Directly proportional to the square of the current

1)The north pole of the needle e will deflect towards his left hand
2)The south pole of then needle willd deflect towards his left hand

3)Then needle will not deflect

4) Then needle will oscillate

66) Statement A: current is scalar. (?ﬁk

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A is ture 4)Only B is true

67) Statement(A):Ampere’s laws tates that thel ine integral ofB.dtalonga closed path

Round the current carrying conductor is equal to Moi = V%K)

Surface bounded by the closed path).

Statement(B):Ampere's law can be derived from Biotsavart'slaw.

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false

68) A vertical straight conductor carries a current vertically upwards. A point P lies to

the east of it as a small distance and another point Q lies to the west at the same
/
v

distance.The magnetic field at P is %)
a.Greater than at Q

b.Same as at Q \ .
c.Less than at Q R
: . \pRINCIPAL rE OF
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69)- Which of the following is a pair of viral diseases?

LS//)
&)‘*1“ yphoid and tuberculosis  b) Ring worm and AIDS ‘/
¢) Common cold and AIDS d) Dysentery and common cold
70) Where will you look for the sporozoites of the malarial parasite? ;
a) RBCs of Humans suffering from malaria ( w
b) Saliva of infected female anopheles mosquito

¢) Saliva of Infected female culex mosquito
d) Spleen of infected humans.

71) The current through a circular coil appears to be flowing in clock-wise direction for

an observer. The magnetic induction at the centre of the coil is: (5

€. Perpendicular to the plane of the coil and towards the observer
f. Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat450at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the

magnetic field at the centre of the coil B.It is then bent into a circular loop of

n
turns.The magnetic field at the centre of the coil will be: Q?ij
1)nB 2)n2B 3)2nB 4)2n2B
L ]
73)The magnetic field at the centre of the current carrying coilis
1)Directed normal to plane of the coil 2)Directed parallel to plane ofthe coil
3)Zero 4)Radial from centre of the coil ~
ol
) )
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74) The electric current in a circular coil of two turns produced a magnetic induction of

0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is, in tesla (if the same current flows in

,. ()

1)0.2 2)0.4 3)0.6 4)0.8

the coil)

75) In an atom the electron has a time period of 0.16 x 10155 jp 5 circular orbit of radius

0.5 A0 The magnetic induction at the centre of the orbit will be (in tesla) '

1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of the arc is ﬁ% j
Dy 2)Wi2R 3 48R

77) The ratio of de Broglie wave lengths of two particles, having mass ratio 1 : 3 and kineticenergy

(z).
Lo

ratio2 : 1 is

D3:2
2)V3: V2
3)V2:43
42 :3

78) In lanthanides, with increase in atomic number atomic radius decreases,

except for the

element X, what X?
1)Gd
2)Eu
3)Tm
4)Dy

66




79)  Dipole moment order of which of the following pairs of molecules is not correct?

1)HF > HCI 2)H,S > CO, 3)NH; > NF; 4)CH, > CHCl; (/)

80) XandY are the two covalent molecules in which the hybridization of the central atoms is

same, but shapes are different. X and Y are % ( L/

a.XeF,, NH;

b.XeF,, PF;

c.BF;, H,O
d.CH,, BeCl,

81) Atsame temperature and pressure, the rate of diffusion of gas ‘X’ is 3v3 times that of agaseous

hydrocarbon of molar mass 54g mol™. The molar mass of X in g mol™ is
116 C Z)/
: -
2)2
3)32
4)28
82) From the given reaction

2KMnO4+ 3H,S0,4 + 5H,0, 0 K,S0, + 2MnS0; + 8H,0 + 50,

Find the normality of H,0, solution, if 20mL of it is required to react completely with 16mLof
0.02 MKMnOj solution. (Molar mass of KMnO, = 158 g mol™)

1)4 x 10'21\;
2)2x 102N
3)6 x 102N
48 x102N
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83) At the temperature T(K) for the reaction X;04q) = 2XO;() AU = xkJ mol”, AS =y Jk'mol ™.
Gibbs energy change for the reaction is (Assume X,0,, XO, are ideal gases)
1)1000 x + 2R (T - y)J mol N
2)1000 x + T (2R - y)J mol* | 3)
3)x + T (2R - y)J mol™
4)x + 2R (T - y)J mol™ \

84) Arrange the aqueous solutions of the following salts in the increasing order of pH

CuSO; NaCN KCl L 2)
L~

I II III
DI<II<II

2)I <M <II
HIMI<II<I
HI <M <I

85) Be and Al show similarities in properties due to diagonal relationship except in the

property X given below. What is X? % )

1)Both form basic oxides and hydroxides \
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have Cl” bridged chloride structure

4)Chloride? of both are soluble in organic solvents

86 ) In the structure of B,Hg, the number of BH, groups present in one plane, and the numberof B-H

bonds, B-B bonds, B-H-B bridge bonds are respectively @ ‘y

1)2,0,3,2
2)3,2,2,2
3)2,4,0,2 \ —
4)2,4,2,0 |, Nt -

e
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87) Identify the incorrect statements from the following

L. Tin in +2 state acts as reducing agent while lead in +4 state acts as strong oxidizing agent
I Silicon exists as both [SiFs]* and [SiClg]* forms ' e

IIl.  The hybridization of carbon in fullerene is sp (/‘g )
IV. Among Ge, Sn and Pb lowest melting point is for Sn

DL IV 2) ILIV 3)ILII 4) IILIV .

88). Methane of the polluted air reacts with ozone and forms the compound

H-0-H.CO;
T : ¢ K
np © ‘

H- C -H.CH,=CH-CHO
2 1l
3) CH;= CH-CHO, C,HsCHO
4) CO,, H,O

89) Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide

givesl-Bromopropane as the major product @

Reason (R): 1-Bromopropane is the major product because -it is formed through the stablecarbocation

The correct answer is
1)(A) and (R) are correct, (R) is the correct explanation of (A)

2)(A) and‘(R) are correct but (R) is not the correct explanation of (A)
3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fcc and other as bee with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fcc and bee phasesapproximately is

1)1.5: 1.0
2)1.0:1.5
3)1.26 : 1
4)1:1.26
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91.Which of the following represents the hyperconjugation effect?

m__ o A
L
2 CH3—CH2—CH2“—5— C1
_ D
L;NHz NFI,
& L]
I, o UL Lo
H H H H
| | [ |
4 I—I*?*?@ > H a'}::?
H H H H

D122 3) 3 44

92).Freundlich adsorption isotherms for the physical adsorption of a gas at temperature

T1,T; and T; are shown in the graph given below. The.correct relationship between

Tl, Tz and T3 is

+ K

m

o

1!
DTi<T<T; 2)Ty<T <7, ILG<T<T,  HT,<T, < Tz } M
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93). The ore which is concentrated by leaching L’Q\)/ %
1)PbS

2)AL0;, 2H,0

3)Sn0,
4)F6203

94) Centre of mass of a body

1)Always lies inside the body 2) Always lies outside the body
3) Always lies on the surface of the body . 4) May lie inside or outside the body

95 )A bomb at rest explodes. The centre of mass of the system

1) Describes a parabola 2) Vertically upwards L
3) Horizontally 4) Is at rest

96). Antigen presenting cells are
' a) Dendritic cells b) Activated macrophages O’/ ) )
el

c) B-Cells d)Dendritic cells, activated macrophages and B cells.

97) Which of the following chemicals is NOT involved in photochemical smog formation

SO, 2)0;  3)NO, 4)NO Y,

98). Gamma interferons are produced by

R (3.

a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell”
99) The symbol of an element is Une. Its atomic number is QZ, )/ i
1)110 2)109 3)101 4)108 |
100). An example for the less organised secondary lymphoid tissue @Q/

a) Thymus  b) Spleen ) Lymph nodes d) Mucosal - associated lymphoid tissue

N
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Maximum transpiration is by (|

1) Stomata 2) Cuticle 3) Lenticels 4) Cuticle & Lenfiticels
Scotoactive stomata C\

1) Opens during day time 2) Opens during night time D<

3) Opens during Day & Night 4) Never opens

Dumbbell shaped guard cells are seen in ( )

1) All monocots 2) Liliaceae 3) Graminaceae 4) Dicoty:(g)\n<
Source of protons during stomatal opening is ( B)/
1) Water 2) Sugars 3) Light 4) Malate

During opening of stomata, into the guard cells ( ?/
[: Entry of K+ is active II: Entry of Cl is active

III: Export of H+ is active [V: Entry of H,0O is“active

Correct statements are

HI&II )&l 3)I[ &Il HI& IV

Traflspiration can be demonstrated by ( V
1) Ganong’s potometer 2) Bell jar experiment

3) Hydrilla experiment 4) Barometer

The factors that show inversely proportional relationship with transpiration
( G)
1) Temperature & Humidity
2) Availability of water & Very high velocity of wind
3) Light & Temperature \ \\ /},/ﬁ
4) Humidity & Very high velocity of wind i\__‘ el
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10.

11.

12.

13.

14.

15.

Assertion (A): Spinous plants transpire less (Y
Reason( R) : Spines are adoptions of xerophytic plants ‘)><
1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false 4) A is false, R is true
1
Natural anti transpirant in plants is ( 92)
1) Auxin 2) Malate 3) Proton 4) ABA ‘
Transpiration plays an indirect role in (3 ) ~
1) Uptake & Transport of minerals 2) Absorption of water ’\/
3) Translocation of solutes 4) Distribution of water
Transpiration is a ‘necessary evil ‘- stated by (4 )
1) Slatyer . 2) Arnon 3) Knop ' 4) Curtis
Phenyl mercuric acetate (PMA) is ( 43//
1) An antibiotic used as an antitranspirant

2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

Enzymes that use ATP for their activity is ' (9 )
1) Kindses 2) Synthetases

3) Transferases : 4) Hydrolases Z
Metallic co-factor in carboxy peptidase is (3 )

1)Fe 2)Mn 3) Zn 4)Mg

Third number in the enzyme nomenclature indicates (

1)Sub-Subclass 2)SubClasses 3)Major Classes 4)Serial number

3
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16.

17.

18.

19.

20.

21.

22,

23.

Protein part in a holo enzyme is (.\1//

1) Apoenzyme 2)Simple enzyme

3)Conjugated enzyme 4)Inducive enzyme

The reaction CO,+ H,O «— H,COj3 requires (\
1) No enzyme 2)An enkyme

3)Very high temperatures 4)Very low temperatures

. Immunity that protects against intracellular bacteria, virus & cancer cells is C\S) p<

a) Innate immunity b) Humoral jimmunity

c) Non-specific immunity d) Cell mediated immunity ,
Stomatal Index is (q)
1) Ratio between stomata and leaf surface area

2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that
unit are _
3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that

area.

Ascent of sap is movement of water from ()
1) Soil into Xylem 2) Xylem into leave'_sv

3) Xylem into atmosphere 4) Leaves into atmosphere

Guttation is (
1. Evidence of root pressure.

3
2. Movement of water through the apoplast.

3. Movement of soluble organic materials through plants

4. Negative pressure created by transpiration. /
When water potential of accessory cells increase (

1) Stomata open 2) Stomata closes

3) Stomata either opens or closes 4) Stomata neither opens nor closes )
True statement regarding opening of stomata ( ?;/

1) Wind is essential 2) Water potential gradient is essentia

3) Light is essential. 4) Protons are essential. | ‘ o




24.  True statement regarding environmental factors is ( L%<
I: High wind velocity increases transpiration continuously )
II: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.
IV: Light increases transpiration to certain extent

DI&II 2)II & 11T 3’ Only IV 4HIV & 11

25. Apparently the source of energy for keeping stomata open is (3 (;)<

1. Ton transfer 2.Transpiration
3. Photosynthesis 4.Hydrogen bond formation
26. Transpiration rate is inversely proportional to (\H//
I)Temperature 2) Light 3) Gentle breeze  4) High wind speeds
27 . Stomatal opening and closing depends on ( L,, /
1)pH changes 2) Guard cell size T
3) Size of stomatal chamber 4) Solute concentration of guard cells

o

28 .During stomatal closing ( b&
2) Protons move actively into guard cells 2) Protons moves passively into guard cells;

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

29. The reasan that a column of water in a tall tree does not sink because of its Weightii(y
1. The tensile strength of a column of water.

2. Bubbles form that are too large to be transported

3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels

30 .Stomata open during day and closes during night are called as () //
1)Photoactive 2) Scotoactive

3)Amphiactive 4) Hypoactive
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31)Rate of the transpiration from the upper surface and lower surface of the
leaf can be known by ( 3'/
1. Bell jar experiment 2.Cobalt chloride experiment

3. Ganong’s potometer 4.Ganong’s sunscreen

32) Assertion (A): The digestive action of salivay amylase stops when the swallowed bolus

Enters the stomach (‘ A j
Reason (R): Salivary amylase is inactivated at the low pH of gastric juice /

a. Both A and R are true and the R is correct explanation of the A

b. Both A and R are true but the R is not correct explanation of the A
c. A is true, but the R is false

d. Both A and R are false

33) Match the following
(b
Column - I . Column-II
A) Haustra i) Palate
B) Uvula ii) Nasopalatine duct
C) Sacculus rotundus iii) Pharynx
D) Jacobson’s organ iv) Colon
v) lleum
A B C B A B C D
a. v I \Y I b. v I \Y I1I
c. I v II \Y d. I v I \Y
]

34) The papillae arranged in semicircle at the base of tongue are é{;é)/
a.Fungiform b. Filiform c. Foliate d. Circumvallat

35) Arrange the following parts in the stomach wall in the correct sequence from Cy/
theouter to the inner side

A. Circular muscle fibers  B. Serosa C. Muscularis mucosa
D. Oblique muscle fibers E. Columnar epithelium F. Longitudinal muscle fibers
G. Submucosa
a.B-F-A-D-G-C-E  b.B-A-F-D-G-C-E  ¢.B-F-A-G-D-C-E  d. B-F-A-D-C-G-E
\ PRINCIPALT e oF
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36). The cells that are not found in the gastric gland of rabbit are [ .\A//

a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupfter cells

37) Choose the correct statement F P!' j '
a.Deficiency of protein intake causes kwashiorkor )
b.Deficiency of fat intake causes marasmus disease

c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

38) choose the correct answer (\ d ')

Salivary glands  Character L / \_//

I) Infra-orbital - Situated below the eye orbit

IT) Parotid - Open through Wharton’s duct

III) Sub maxillary - Open through Stensen’s duct

IV) Sub lingual - Situated below the tongue

a.land II b. IT and III c.llland I d.Tand IV

39) Amino acids are the only end products by the action of which of the following enzymes acts

on the protein constituents? C C
a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase .. d. Dipeptidase

40) The detoxifying organ of the body is C d ’]
a. Liver b. Pancreas c. Spleen d. Bone marrow -

41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataion

offood from the C fy

a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach
c. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach

42)  Formation of glucose in liver from non-carbohydrates is called

a.Glycogenesis b. Gluconeogenesis c. Lipogenesis d. Glycogenolysis

LWL
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43) Match the followings /
Cells Secretion C A J/

A) Zymogen Cells  I) Mucus St

B) Neck Cells II) Pepsinogen

C) Parietal Cells III) Gastrin %

D) G-Cells IV) Castle’s intrinsic factor

A B C D A B C D

a. II I A% I b. I v I II

é. III v I | I d I | v 11
44) Read the following (\ o

I. Health and vigour of epithelial tissues-vitamin A
II. Health and integrity of muscles-vitamin E

III. Integrity of endothelium -vitamin C

IV. Functioning of gonads-vitamin E

Which of the above are true?

a. All are true - b. All except [V c. All except 11 d. All are false

45) Which of the following substances are absorbed into the cells and into blood by diffusion?

/

a.Amino acids b. Fructose C Ey /
c. Short chain fatty acids d. Long chain fatty acids '

46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their C@

action
a) Dipeptidase b) Pepsin c¢) Carboxypeptidase d) Tripeptidase e) Trypsin
a. e-b-d-c-a b. b-e-c-d-a c. c-a-d-b-e d.d-c-a-b-d
i
47) Mineral required for the formation of insulin is C A
a.Sulphur b. Iodine c. Cobalt  d. Copper _
\\ _—
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48 )” ?roteolytic enzymes which act in acidic medium are [‘ y/
v B

~ a.Chymotrypsin, rennin b. Pepsin, Rennin
c. Pepsinogen, Trypsinogen d. Pepsin, Trypsin
49) Correct statement from the following is )
a.Pyloric sphincter regulates the flow of food in to the duodenum F l&
b.Lower oesophageal sphincter prevents backward flow of food into duodenum ’ ‘
c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach ahd fundic stomach.

50) Stensen’s duct and wharton’s duct are associated with the following glands
a.Parotid & sub maxillary b. Parotid & sublingual C - :) /
¢. Sub maxillary & sublingual d. Sublingual & Infra orbital v
S1)  Dietetics’ is related to the study of
a.Nutritional disorders b. Chemical nature of food C 0) y
¢. Food stuff and nutrition d. Minerals & Vitamin -

52) Decreased blood pressure, low pulse rate, lowers than normal body temperature a

mental retardation are the symptoms of C 0\ )

a.Obesity b. Marasmus c. Kwashiorkor drCarcinoma

53). Many diseases can be diagnosed by observing the symptoms in the patient. Which groups of
symptoms are indicative of pneumonia? J
a. Difficulty in respiration, fever, chills, cough, headache C P g/
b. Constipation, abdominal pain, cramps, blood clots
c. Nasa‘l congestion and discharge, cough, sore throat, headache

d. High fever, weakness, stomach pain, loss of appetite and constipation

54) Antibodies present in colostrum which protect the new born from certain diseases is of

a. IgGtype b.IgAtype c.IgDtype d.IgE type Cb
35). Identify the third line of defense from the following C \Cy
a) NK cells b) Tears ¢) T cells d) Phagocytes :

a. ELISA-Test b. ESR — Test c. PCR - Test d. Widal-Test,

56) The chemical test that is used for diagnosis of typhoid is: C. C\}y |

sl .
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57) Acurrent isflowing due north along a powerline.The direction of the magnetic /

field above it, neglecting the earth’s field is: A
(1)North (2)East (3)South (4)West e d
58). Find the wrong statement among the following
a) Malignant tumors exhibit metastasis C‘-}%
b) Benign tumors are with a fibrous outer capsyle =

¢) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) A square conducting loop of length L on a side has a current‘i’in it. The magnetic

induction at the centre of the loop is C 0 J
( 1)Independent of L ‘ (2)Directly proportional L g . |
(3)Inversely proportional to L (4)Inversely proportional to L2

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, the reason
could be that:

a. The patient was not efficient at his work C O\é(
b. The patient was not economically prosperous
¢. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

61) When no external force is acting on a system of particles, the centre of mass of the system \C:g/)

1 ) Remains at rest only 2)Moves with constant velocity only
3 ) Movés with constant velocity or will be at rest 4) Moves with variable velocity

62) Field at the centre of circular coilo fradiusr,through which a currentl flows is

(1)Directly proportionaltor (2)Inversely proportionaltol \y/j

(3)Directly proportionaltol (4)Directly proportionaltoI2

63) Lines of magnetic field around a current carrying straight conductor will be

1) Straight linesparallel to conductor C ! j
2) Circular in a plane parallel to conductor ~
3) Circular in a plane perpendicular to conductor \ \ 3

4)Straight perpendicular to conductor

o O
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3 64l}¥1agnetic induction at a point due to a small element of current carrying conductor is
1) Inversely proportional tothesquare of the distance of the point fromt the conductor C g
2) Inversely proportional to the distance of the poin tform theconductor /
3) Directly proportional to the square of the length of conductor
4) Directly proportional to the square of the current

65) Imagine a man swimming along a current carrying conductor in a direction opposite to that

of current and facing the conductor. A magnetic needle free to rotate in a horizon /tal plane
is mounted on a stand under the wire. Then (- \%/

1)The north pole of the needle e will deflect towards his left hand

2)The south pole of then needle willd def:lect towards his left hand

3)Then needle will not deflect

4) Then needle will oscillate

66) Statement A: current is scalar. C /j’?/

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A isture  4)Only B is true

67) Statement(A):Ampere’s laws tates that thel ine integral ofB.dfalonga closed path
Round the current carrying conductor is equal to uyi - C 3
Surface bounded by the closed path).

Statement(B):Ampere's law can be derived from Biotsavart'slaw.
2

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false
68) A vertical straight conductor carries a current vertically upwards. A point P lies to
the east of it as a small distance and another point Q lies to the west at the same

distance.The magnetic field at P is 4’/3
a.Greater than at Q \/

b.Same as at Q
c.Less than at Q \ \

d.Greater or less than a tQ depending upon the magnetic field of the current \




69)--Which of the following is a pair of viral diseases? C 2,)

&)ﬁl"yphoid and tuberculosis  b) Ring worm and AIDS ' (><
¢) Common cold and AIDS d) Dysentery and common cold

70) Where will you look for the sporozoites of the malarial parasite?

A
a) RBCs of Humans suffering from malaria C 2 3 //
b) Saliva of infected female anopheles mosquito /
¢) Saliva of Infected female culex mosquito g

d) Spleen of infected humans,

71) The current through a circular coil appears to be flowing in clock-wise direction for

2_ e
an observer. The magnetic induction at the centre of the coil is: C\}

€. Perpendicular to the plane of the coil and towards the observer
f. Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat450at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the

magnetic field at the centre of the coil B.It is then bent into a circular loop of n

.

1)nB 2)n’B 3)2nB 4)2n2B 9<

73)The magnetic field at the centre of the current carrying coilis L _‘_’}_ J
1)Directed normal to plane of the coil 2)Directed parallel to plane ofthe M

3)Zero 4)Radial from centre of the coil

turns.The magnetic field at the centre of the coil will be: C




74) The electric current in a circular coil of two turns produced a magnetic induction of
0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is, in tesla (if the same current flows in

the coil) L ?) 9<

1)0.2 2)0.4 3)0.6 4)0.8

75) In an atom the electron has a time period of 0.16 x 1015 s in a circular orbit of radius

: 1
0.5 A0.The magnetic induction at the centre of the orbit will be (in teslaV

1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of the arc is 2’;,
Dpel Wi2R i 48R

77) The ratio of de Broglie wave lengths of two particles, having mass ratio 1 : 3 and kineticenergy

ratio2 : 1is

Y.
1)3:2 C %/\j\/
2\3: 12

3)V2:43
42 :3

78) In lanthanides, with increase in atomic number atomic radius decreases, except for the

element X, what X?

1)Gd C4
2)Eu
3)Tm
F
ryTE O
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79) Dipole moment order of which of the following pairs of molecules is not correct? C4f
1)HF > HCl 2)H,S > CO, 3)NH; > NF; 4)CH,>CHCl; ( =

80) XandY are the two covalent molecules in which the hybridization of the central atoms is

same, but shapes are different. X and Y are % F (w\ J ]
a.XeF,, NH; / \/

b.Xer, PF5
C.BF3, HzO
d.CH,, BeCl,

81) Atsame temperature and pressure, the rate of diffusion of gas ‘X’ is 3v3 times that of agaseous

hydrocarbon of molar mass 54g mol, The molar mass of X in g mol ™ is

116
o - ( D/V
3)32
4)28
82) From the given reaction
2KMnO, + 3H,S0, + 5H,0, O K>SO, +2MnSO, + 8H,0 +50;

Find the normality of H,0, solution, if 20mL of it is required to react completely with 16mLof
0.02 MKMnOj solution. (Molar mass of KMnO, = 158 g mol™)

1)4><"10'2N‘ C y
2)2x 102N

3)6 x 102N

48 x102N

kR

84




83) At the temperature T(K) for the reaction X;04q) = 2XO5() AU = xkJ mol ™, AS =y Jk'mol .

| Gibbs energy change for the reaction is (Assume X,0,4, XO, are ideal gases)
| 1)1000 x + 2R (T - y)J mol’!
| 2)1000 x + T (2R - y)J mol™ C 3 3><
| 3)x+ T (2R - y)J mol™
4)x + 2R (T - y)J mol™ %

84) Arrange the aqueous solutions of the following salts in the increasing order of pH

CuSO; NaCN KClI C Q:V
I 11 11T

DI<II<II
I <M <II
HM <M <I

HI < <I

85) Be and Al show similarities in properties due to diagonal relationship except in the

property X given below. What is X? C 1 D

1)Both form basic oxides and hydroxides
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have CI” bridged chloride structure

4)Chloride? of both are soluble in organic solvents

86 ) In the structure of B;Hg, the number of BH; groups present in one plane, and the numberof B-H

bonds, B-B bonds, B-H-B bridge bonds are respectively

1)2, 0, 3, 2 [ S\V

23,2,2,2 ¢

3)2: 43 Oa 2 \.‘ \ . i
\

4)2,4,2,0 \_—"

2
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87) Identify the incorrect statements from the following [\ 5 \/

L. Tin in +2 state acts as reducing agent while lead in +4 state acts as strong oxidizing agent
II.Silicon exists as both [SiFs]> and [SiCl]* forms

II.  The hybridization of carbon in fullerene is sp>
IV. Among Ge, Sn and Pb lowest melting point is for Sn

DLIV 2) ILIV 3)ILII 4) LIV %

88). Methane of the polluted air reacts with ozone and forms the compound

H-C-H.CO, -
S L fl]

y O 4

fﬁ‘
2) ©

3) CH,= CH-CHO, C,H;CHO
4) COy H,0

H- € —H.CH,=CH-CHO

89) Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide
givesl-Bromopropane as the major product C 3
Reason (R): 1-Bromopropane is the major product because -t is formed through the stablecarbocation

The correct answer is
1)(A) and (R) are correct, (R) is the correct explanation of (A)
2)(A) and'(R) are correct but (R) is not the correct explanation of (A)

3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fcc and other as bec with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fcc and bee phasesapproximately is

D1.5:1.0 Cg J .

2)10 : 1.5 / \\\ 7(//

3)1.26 : 1 \ \—

4)1:1.26 \prmtCIPAL o o
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91.Which of the following represents the hyperconjugation effect?

, <4
Padh
2, CH3 bt CHz—-CHz —>— C1
- 2,
o >
Tl s Y
3. ~
I | | |
CETE T v e
H H H H

92).Freund_lich adsorption isotherms for the physical adsorption of a gas at temperature

T1,T2 and T; are shown in the graph given below. The correct relationship between

Ty, T; and T; is C 3

P —
DTi<T:<T; 2)T3<T,<T, IMG<T<Ti  4HT,<T,<T;
¢ AV A
| AN S
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93). The ore which is concentrated by leaching

1)PbS C y \
2)AL,0;, 2H,0 ~

3)Sn0O,
%
4)F 6203
94) Centre of mass of a body C 4\»)/
1)Always lies inside the body 2) Always lies outside the body

3) Always lies on the surface of the body . 4) May lie inside or outside the body

95)A bomb at rest explodes. The centre of mass of the system C 2

1) Describes a parabola 2) Vertically upwards
3) Horizontally 4) Is at rest
96). Antigen presenting cells are ’:4/ J
' a) Dendritic cells b) Activated macrophages
¢) B-Cells d)Dendritic cells, activated macrophages and B cells.

97) Which of the fbllowing chemicals is NOT involved in photochemical smog formation

DSO;  2)0;  3NO,  4NoO Cﬁy

98). Gamma interferons are produced by C 3 J

d
a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell
99) The symbol of an element is Une. Its atomic number is Cl\y
D110 2)109 3)101 4)108 /
100). An example for the less organised secondary lymphoid tissue C 4*
a) Thymus b) Spleen ) Lymph nodes d) Mucosal - associated lymphoid tissue
\ —
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Gunthapally(V),Abdullapurmet(M), Ranga Reddy Dist.501512
FREESHIP EXAMINATIONTEST
2020-21

Total Marks: 100 Duration: 180min

Name of the student: Mdgug@'ftj’@\ Date: &6\ \ \,9\00'7\0

Avanthi Freeship No: AT PS 2020 039

1. Maximum transpiration is by ( \
1) Stomata 2) Cuticle 3) Lenticels 4) Cuticle & Lenticels
2 Scotoactive stomata ( D?/‘/
1) Opens during day time 2) Opens during night time
3) Opens during Day & Night 4) Never opens
3. Dumbbell shaped guard cells are seen in ( 2
1) All monocots 2) Liliaceae 3) Graminaceae 4) Dicotylédons
4, Source of protons during stomatal opening is ( ) 2
1) Water 2) Sugars 3) Light 4) Malate -
S. During opening of stomata, into the guard cells ( 3 )////
I: Entry of K+ is active II: Entry of Cl is active —
III: Export of H+ is active IV: Entry of H,0 is active
Correct statements are
DI&I &M 3)I1&II HI&IV
6. T:anspiration can be demonstrated by ( C:?//
1) Ganong’s potometer 2) Bell jar experiment (O
3) Hydrilla experiment 4) Barometer
% The factors that show inversely proportional relationship with transpiration
Yy
1) Temperature & Humidity
2) Availability of water & Very high velocity of wind
3) Light & Temperature \\ \ _— B
4) Humidity & Very high velocity of wind I\ —
/g',s,s HCl 3; it UTE O ¥
¢ P\l?\:ﬁ’; L)
Guntha%i“ '\’_ Dist. 1818 gnen




Assertion (A): Spinous plants transpire less ( (Q/

Reason( R) : Spines are adoptions of xerophytic plants
1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false 4) A ig false, R is true

Natural anti transpirant in plants is ( \_Y )
1) Auxin 2) Malate 3) Proton 4) ABA
Transpiration plays an indirect role in (y
1) Uptake & Transport of minerals 2) Absorption of water

3) Translocation of solutes 4) Distribution of water

Transpiration is a ‘necessary evil ¢- stated by ( Lﬂ

1) Slatyer 2) Arnon 3) Knop 4) Curtis
Phenyl mercuric acetate (PMA) is (3

1) An antibiotic used as an antitranspirant
2) A fungicide used to increase transpiration
3) A fungicide used as an antitranspirant

4) A growth hormone used as an anti transpirant.

Enzyles that use ATP for their activity is ( \2/
1) Kinases 2) Synthetases

3) Transferases y 4) Hydrolases
Metallic co-factor in carboxy peptidase is (A
1)Fe 2)Mn 3) Zn 4)Mg :

Third number in the enzyme nomenclature indicates (|

1)Sub-Subclass 2)SubClasses 3)Major Classes 4)Serial number

i P
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16.

18.

19.

20.

21.

22,

23.

r

Protein part in a holo enzyme is (!/)/
1) Apoenzyme 2)Simple enzyme ‘
3)Conjugated enzyme 4)Inducive enzyme

The reaction CO,+ H,0 < H,CO; requires

L
|
1) No enzyme 2)An enzyme ’

3)Very high temperatures 4)Very low temperatures

- Immunity that protects against intracellular bacteria, virus & cancer cells is ((—U
a) Innate immunity b) Humoral immunity
¢) Non-specific immunity d) Cell mediated immunity .
Stomatal Index is ( 2
1) Ratio between stomata and leaf surface area \/
2) Ratio between stomata per unit area and sum of epidermal cells and stomata of that
unit are

3) Ratio between epidermal cells and stomata of that unit area

4) Ratio between sum of stomata and epidermal cells of a unit area and stomata of that
area.

- Ascent of sap is movement of water from (%
1) Soil into Xylem 2) Xylem into‘leaves
3) Xylem into atmosphere 4) Leaves into atmosphere

7
Guttation is ( \l/‘/
1. Evidence of root pressure,
3

2. Movement of water through the apoplast.
3. Movement of soluble organic materials through plants

4. Negative pressure created by transpiration.

When water potential of accessory cells increase ( \V/ i

1) Stomata open 2) Stomata closes

3) Stomata either opens or closes 4) Stomata neither opens nor closes

(9 )

2) Water potential gradient is essential

True statement regarding opening of stomata

1) Wind is essential

3) Light is essential. 4) Protons are essential.
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24, True statement regarding environmental factors is ( g ) /

I: High wind velocity increases transpiration continuously
II: As available water is pure rate of transpiration is maximum.
III: Atmospheric pressure increases transpiration.

IV: Light increases transpiration to certain extent

DI& I 2)II &I 3} Only IV 4HIV &Il
25. Apparently the source of energy for keeping stomata open is CcV ) /’/
1. Ion transfer 2.Transpiration et
3. Photosynthesis 4. Hydrogen bond formation
26. Transpiration rate is inversely proportional to (y

I)Temperature 2) Light 3) Gentle breeze 4) High wind speeds

27 . Stomatal opening and closing depends on ( \y
| :
1)pH changes 2) Guard cell size

3) Size of stomatal chamber 4) Solute concentration of guard cells
28 .During stomatal closing ()
2) Protons move actively into guard cells 2) Protons moves passively into guard cells.

3) Chloride moves passively into guard cells.  4) Malate moves to adjacent cells.

29. The reasan that a column of water in a tall tree does not sink because of its weightis( 1)
1. The tensile strength of a column of water.

2. Bubbles form that are too large to be transported
3. The presence of strong ion concentrations near the top of the tree

4. The formation of hydrogen bonds with the plants vessels

30 .Stomata open during day and closes during night are called as ( [
1)Photoactive 2) Scotoactive
3)Amphiactive 4) Hypoactive \’\_! ’!\ e
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31)Rate of the transpiration from the upper surface and lower surface of the

(|

2.Cobalt chloride experiment

leaf can be known by
1. Bell jar experiment

3. Ganong’s potometer

4.Ganong’s sunscreen

32) Assertion (A): The digestive action of salivar¥ amylase stops when the swallowed bolus CL)

Enters the stomach

Reason (R): Salivary amylase is inactivated at the low pH of gastric juice

a. Both A and R are true and the R is correct explanation of the A

b. Both A and R are true but the R is not correet explanation of the A

c. A is true, but the R is false

d. Both A and R are false
33) Match the following

Column - I
A) Haustra
B) Uvula
)] Sacculus rotundus

D) Jacobson’s organ

A B C
a. v I A"/
c. I v II

a.Fungiform

theouter to the inner side

A. Circular muscle fibers
D. Oblique muscle fibers

G. Submucosa

a. B-F-A-D-G-C-E  b.B-A-F-D-G-C-E  ¢.B-F-A-G-D-C-E  d.B-

Column-II
i) Palate
ii) Nasopalatine duct
iii) Pharynx
iv) Colon
v) lleum
B A
I b. v
\' d. I

34) The papillae arranged in semicircle at the base of tongue are
b. Filiform

c. Foliate

B. Serosa

E. Columnar epithelium

B C D
I \Y il
IV Im V

C. Muscularis mucosa

22

c%

o
d. Circumvallate

35) Arrange the following parts in the stomach wall in the correct sequence from

F. Longitudinal muscle fibers

F-A-D-C-G-E
\ [ s ~f"‘."/
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36). The cells that are not found in the gastric gland of rabbit are C b
a.Oxyntic cells b. Zymogen cells c. Parietal cells d. Kupfter cells
37) Choose the correct statement A
) C c\) ,
a.Deficiency of protein intake causes kwashiorkor o i

b.Deficiency of fat intake causes marasmus disease
c.Deficiency of magnesium causes seborrheic sterility

d.Deficiency of niacin causes seborrheic dermatitis

38) choose the correct answer C o
Salivary glands  Character &
I) Infra-orbital - Situated below the eye orbit
IT) Parotid - Open through Wharton’s duct
IIT) Sub maxillary - Open through Stensen’s duct
IV) Sub lingual - Situated below the tongue
a.land II b. II and III c.llland I d.Tand IV

39) Amino acids are the only end products by the action of which of the following enzymes acf}m/

on the protein constituents?

a.Aminopeptidase b. Carboxypeptidase c. Tripeptidase .. d. Dipeptidase
.
40) The detoxifying organ of the body is C d ) /
a. Liver b. Pancreas c. Spleen d. Bone marrow \//

3

41) In normal conditions, the lower oesophageal sphincter prevents the regurgitataion C d ) '
offood from the :

a.Cardiac stomach to pyloric stomach b. Cardiac stomach to fundic stomach
c. Cardiac stomach to oesophagus d. Pyloric stomach to cardiac stomach 2
42)  Formation of glucose in liver from non-carbohydrates is called @/
a.Glycogenesis b. Gluconeogenesis c. Lipogenesis d. Glycogenolysis
\'\.\i\\\ i %]
"\\ ‘\M/,/'* i - 1
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43) Match the followings ¢ A)
Cells Secretion

A) Zymogen Cells  I) Mucus

B) Neck Cells D) PepSinogen
C) Parietal Cells IIT) Gastrin L]
D) G-Cells IV) Castle’s intrinsic factor
A B C D A B C D
a. III I v I b. I v I I
e, III v I | II d I I v 11
44) Read the following CC‘

L. Health and vigour of epithelial tissué;-vitam' A
IL. Health and integrity of muscles-vitamin E

II1. Integrity of endothelium -vitamin C

IV. Functioning of gonads-vitamin E

Which of the above are true?

a. All are true b. All except IV c. All except II d. All are false

45) Which of the following substances are absorbed into the cells and into blood by diffusion? &

a.Amino acids b. Fructose
c. Short chain fatty acids d. Long chain fatty acids
3
46) Following are the enzymes that act up on proteins. Arrange them in a sequence of their C 3)
action ‘
a) Dipeptidase b) Pepsin ¢) Carboxypeptidase d) Tripeptidase e) Trypsin
a. e-b-d-c-a b. b-e-c-d-a ¢. c-a-d-b-e d.d-c-a-b-d
47)  Mineral required for the formation of insulin is C“}% -
a.Sulphur b.lodine  c.Cobalt d.Copper , \ \
\ \\ i -
\ \- |
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48 ) i-’roteolytic enzymes which act in acidic medium are C c > 7
va.Chymotrypsin, rennin b. Pepsin, Rennin \/
¢. Pepsinogen, Trypsinogen d. Pepsin, Trypsin

49) Correct statement from the following is C c )
a.Pyloric sphincter regulates the flow of food in to the duodenum
b.Lower oesophageal sphincter prevents backward flow of food into duodenum

c.Pylorus is present between pyloric stomach and fundic stomach

d.Cardia is present between cardiac stomach ahd fundic stomach.

50) Stensen’s duct and wharton’s duct are associated with the following glands CQ/

a.Parotid & sub maxillary b. Parotid & sublingual
¢. Sub maxillary & sublingual d. Sublingual & Infra orbital
51)  Dietetics’ is related to the study of C d \)/
a.Nutritional disorders b. Chemical nature of food
¢. Food stuff and nutrition d. Minerals & Vitamin

52) Decreased blood pressure, low pulse rate, lowers than normal body temperature and \Cy/

mental retardation are the symptoms of

a.Obesity b. Marasmus ¢. Kwashiorkor d. Carcinoma

53). Many diseases can be diagnosed by observing the symptoms in the patient. Which groups of g b)
symptoms are indicative of pneumonia?

a. Difficulty in respiration, fever, chills, cough, headache K
b. Constipation, abdominal pain, cramps, blood clots
¢. Nasal congestion and discharge, cough, sore throat, headache

3

d. High fever, weakness, stomach pain, loss of appetite and constipation

54) Antibodies present in colostrum which protect the new born from certain diseases is of /g?

a. ELISA-Test b. ESR — Test ¢. PCR — Test d. Widal-Test

a. Ig Gtype b.IgAtype c.IgDtype d.IgE type
SS). Identify the third line of defense from the following | Q O )
a) NK cells b) Tears c) T cells d) Phagocytes
56) The chemical test that is used for diagnosis. of typhoid is: C ¢ > Q<
\ \ -

|
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57) A current is flowing due north along a powerline.The direction of the magnetic
field above it, neglecting the earth’s field is: C A
(1)North (2)East (3)South (4)West

58). Find the wrong statement among the following ( Bb(

a) Malignant tumors exhibit metastasis

b) Benign tumors are with a fibrous outer capsgle

¢) Sarcomas are the malignant tumors of secondary lymphoid organs
d) Carcinomas are malignant tumors of the epithelial cells

59) Asquare conducting loop of length L on a side has rrent‘i’in it. The magnetic

induction at the centre of the loop is e
( 1)Independent of L ‘ (2)Directly proportional L

(3)Inversely proportional to L (4)Inversely proportional to 12

60). when an apparently healthy person is diagnosed as unhealthy by a psychiatrist, the reason CO(
could be that:

a. The patient was not efficient at his work
b. The patient was not economically prosperous
c. The patient shows behavioral and social maladjustment

d. He does not take interest in sports

61) When no external force is acting on a system of particles, the centre of mass of the system Cb)

1 ) Remains at rest only 2)Moves with constant velocity onl};
3') Movés with constant velocity or will be at rest 4) Moves with variable velocity

62) Field at the centre of circular coilo fradiusr,through which a currentl flows is \Cy

(1)Directly proportionaltor (2)Inversely proportionaltol

(3)Directly proportionaltol (4)Directly proportionaltol2

1) Straight linesparallel to conductor

63) Lines of magnetic field around a current carrying straight conductor will be (g?

2) Circular in a plane parallel to conductor \\
\ \
. . . \ \ — g
3) Circular in a plane perpendicular to conductor  Sas -
; . \ 1P
4)Straight perpendicular to conductor o ii?}‘j’:‘ -y M:‘ iTE Q
AVANTH! ' SioNCES
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64‘uYIagnetic induction at a point due to a small element of current carrying conductow

1) Inversely proportional tothesquare of the distance of the point fromt the conductor
2) Inversely proportional to the distance of the poin tform theconductor
3) Directly proportional to the square of the length of conductor

4) Directly proportional to the square of the current

is mounted on a stand under the wire. Then ( 7;>
1)The north pole of the needle e will deflect towards his Teft hand
2)The south pole of then needle willd def}ect towards his left hand
3)Then needle will not deflect

4) Then needle will oscillate

66) Statement A: current is scalar. C ')/

StatementB:currentelementisvector.

1)A and B are true 2)A and B are false 3)Only A is ture 4)Only B is true

67) Statement(A):Ampere’s laws tates that thel ine integral ofB.dlalonga closed path(), ‘
Round the current carrying conductor is equal to pyi -

Surface bounded by the closed path).

Statement(B):Ampere's law can be derived from Biotsavart'slaw.
L ]

1)A is true B is false 2)A is false B is true 3)A and B are true 4)A and B is false

68) A vertical straight conductor carries a current vertically upwards. A point P lies to

the east of it as a small distance and another point Q lies to the west at the same (3)

distance.The magnetic field at P is
a.Greater than at Q

b.Same as at Q

\\ - %
\\ anil®” B
¢.Less than at Q \\_- .

1 T A ‘
d.Greater or less than a tQ depending upon the magnetic field of the cuzrenf;kggﬁ' g
& . (e
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é};“ryphoid and tuberculosis b) Ring worm and AIDS
¢) Common cold and AIDS d) Dysentery and common cold

69)-Which of the following is a pair of viral diseases? ‘ C \ %

70) Where will you look for the sporozoites of the malarial parasite? C& /

~
a) RBCs of Humans suffering from malaria

b) Saliva of infected female anopheles mosquito
¢) Saliva of Infected female culex mosquito
d) Spleen of infected humans.

71) The current through a circular coil appears to be flowing in clock-wise direction \f(ny

an observer. The magnetic induction at the centre of the coil is:
€. Perpendicular to the plane of the coil and towards the observer
f. Perpendicular to the plane of the coil and away from the observer

g. Parallel to plane of the coil

h. Inclinedat450at the plane of coil

72) A long wire carries a steady current.It is bent into a circle of one turn and the

magnetic field at the centre of the coil B.It is then bent into a circular loop of n
turns.The magnetic field at the centre of the coil will be: (" ‘&<
1)nB 2)nB 3)2nB 4)2n2B

73)The magnetic field at the centre of the current carrying coilis C3
1)Directed normal to plane of the coil 2)Directed parallel to plane ofthe coil
3)Zero 4)Radial from centre of the coil

929




74) The electric current in a circular coil of two turns produced a magnetic induction of
0.2T at its centre. The coil is unwound and rewound in to a coil of four turns. The

magnetic induction at the centre of the coil now is, in tesla (if the same current flows in

the coil) QL' \/)

1)0.2 2)0.4 3)0.6 4)0.8

75) In an atom the electron has a time period of 0.16 x 1015 s in a circular orbit of radius

s ///
0.5 A0.The magnetic induction at the centre of the orbit will be (in teslaz\c/‘/a/
1)12.56 2)125.6 3)1.256 4)25.12

76) Acircular arc of wire subtends an anglen/2 at the centre. If it carries a current i and its

radius of curvature is R then the magnetic field at the centre of the arc is (\7!)
Dpei 2)Wi2R el 4)ui8R “ r

77) The ratio of de Broglie wave lengths of two particles, having mass ratio 1 : 3 and Kkineticenergy

. (21
ratio2 : 1is (>

H3:2

2)\3 2
3)V2:43
42 :3

78) In lanthanides, with increase in atomic number atomic radius decreases, except for the

element X, what X? C‘%/
1)Gd

3)Tm
4)Dy
& AVA
P e
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79)  Dipole moment order of which of the following pairs of molecules is not correct? C )

DHF >HCI  2)H,S > CO, 3)NH; > NF, 4)CH, > CHCl,

80) XandY are the two covalent molecules in which the hybridization of the central atoms is

same, but shapes are different. X and Y are % C U )/ /
a.XeF,, NH; il
b.XeF,, PF;
¢.BF;, H,O
d.CH,, BeCl,

81) At same temperature and pressure, the rate of diffusion of gas ‘X’ is 3v3 times that of agaseous

hydrocarbon of molar mass 54g mol™. The molar mass of X in g mol! is (3
1)16
2)2
3)32
4)28
82) From the given reaction
2KMnO, + 3H,S0, + 5H,0, [J K>SO, +2MnSO, + 8H,0 + 50,
Find the normality of H,0, solution, if 20mL of it is required to react completely with 16mLof
0.02 MKMnOj solution. (Molar mass of KMnOy =158 g mol™) @) P
3 \,/’/
1)4 x 102N
2)2x 102N
3)6x 102N
48 x10%N

R =17 ‘(
. wifle s
—-“/ 19 { ! :‘A‘ B %x &M\S
\TH = Loty
PNAN L uivay
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83) At the temperature T(K) for the reaction X;04g) = 2XO;) AU = xkJ mol?, AS =y Jk'mol .
Gibbs energy change for the reaction is (Assume X,0,, XO, are ideal gases) C %<
1)1000 x + 2R (T - y)J mol
2)1000 x + T (2R - y)J mol™
3)x+ T (2R - y)J mol™
4)x + 2R (T - y)J mol™ *

84) Arrange the aqueous solutions of the following salts in the increasing order of pH C 2

CuSO4 NaCN KCl

I II III
DI<II<II

2)I<II <II
HIMI<I<I
HI<II<I

‘ g /
85) Be and Al show similarities in properties due to diagonal relationship except in the (\‘Q/
property X given below. What is X?

1)Both form basic oxides and hydroxides
2)Ions of both have strong tendency to form complexes

3)In vapour phase chlorides of both have Cl” bridged chloride structure

4)Chloride$ of both are soluble in organic solvents

86 ) In the structure of B,Hg, the number of BH; groups present in one plane, and the numberof B-H
T

bonds, B-B bonds, B-H-B bridge bonds are respectively C< : :/
1)2,0,3,2

2)3) 23 2, 2
3)2,4,0,2 YO
b N e
4)2,4,2,0 i
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87) Identify the incorrect statements from the following C i?/
L. Tin in +2 state acts as reducing agent while lead in +4 state acts ong oxidizing agent

II. Silicon exists as both [SiFs]* and [SiClg]* forms
III.  The hybridization of carbon in fullerene is sp’

IV. Among Ge, Sn and Pb lowest melting point is for Sn
DLIV 2) ILIV 3)ILII 4) LIV %

88). Methane of the polluted air reacts with ozone and forms the compound C:)_D/ |

H-C-H €O
1)

H-C -H.CH,=CH-CHO
3 1l
3) CH,= CH-CHO, C,HsCHO
4) CO, H,O

89) Assertion (A): Propene on addition with hydrogen bromide in the presence of peroxide

givesl-Bromopropane as the major product C :7)/

Reason (R): 1-Bromopropane is the major product because 4t is formed through the stablecarbocation

The correct answer is
1)(A) and (R) are correct, (R) is the correct explanation of (A)
2)(A) and‘(R) are correct but (R) is not the correct explanation of (A)

3)(A) is correct but (R) is not correct

4)(A) is not correct but (R) is correct

90).A metal crystallizes in two phases, one as fcc and other as bee with unit cell edge lengths
of 3.5A and 3.0 Arespectively. The ratio of density of fcc and bee phasesapproximately is Lﬂ

DL5:1.0

2)1.0:1.5 t

3)1.26: 1 \ P ~

4)1:1.26 g ‘ PW\;(‘“ ’\L uTE PF
Bunthaiﬁva" ?\-;1:"1.' " signgana.
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91.Which of the following represents the hyperconjugation effect? C 3 b<

N o _
b SEnm S el e
Lo
2 CH3—CH2—CH2 —~p— 1
, )
— 3
I | | |
TETETEY e T T

T1,T; and T; are shown in the graph given below. The. correct relationship between

Tl, Tz and T3 is

IR

X
m

| \
= \

e

\_

‘{ ‘ A\- =
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93). The ore which is concentrated by leaching C_L]é<

1)PbS
2)AL,05, 2H,0

3)Sn0,
4)FCZO3

94) Centre of mass of a body C U >

I)Always lies inside the body 2) Always lies outside the body
3) Always lies on the surface of the body . 4) May lie inside or outside the body

95 )A bomb at rest explodes. The centre of mass of the system C Y )/

S—
1) Describes a parabola 2) Vertically upwards
3) Horizontally 4) Is at rest
96). Antigen presenting cells are L 5
' a) Dendritic cells b) Activated macrophages
c) B-Cells d)Dendritic cells, activated macrophages and B cells.

97) Which of the following chemicals is NOT involved in photochemical smog formation ((;I)/

1)SO; 2)0;  3)NO, 4)NO

98). Gamma interferons are produced by C 1>\<
3 .
a) B lymphocytes b) Macrophages ¢) T lymphocytes d) Dendritic cell

99) The symbol of an element is Une. Its atomic number is ( 8;)

1110 2)109 3)101 o
100). An example for the less organised secondary lymphoid tissue CA;#\)/
a) Thymus  b) Spleen c) Lymph nodes d) Mucosal - assoctated lymphoid tissue
\ \\ ____‘,_,,.4,,..7_%/./’“
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b. S.S.C Grade / Percentage: 4"}/ ...............................

c. Intermediate Studied : (’—/.ﬁ.w‘@'é-wg
d. Intermediate Percentage : Q/r/|

A Poveltichuo

Date: 79 5) )’)// e)// Signature
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AVAN'i‘H INSTITUTE OF
PHARMACEUTICAL SCIENCES
{Approved by PCI, AICTE & Affiliated to JNTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderabad - 501 512,

APPLICATION TO AVAIL FREESHIP/CONCESSION
2020-2021

1. Name of the Student: @AN@]&}A&S”F}T!\[F} ......................................

2. Registered no: 2@@“’[&@»@15
A\

2 W
4. Father name: Q)‘NM!’}’VQ(Q}'—' ...........................................................

5. Mother Name: pf ................. ﬂf/@;\/ ..............................................................

3. Branch: .&"‘/7 =¥

6. Father Occupation: ..... 5755 .. 50

']
7. Mother Occupation: —H’OM&@»M/%&

8. Parent Income: r[O’C?/f?’?’D ...............................

9. Residential Address: N\MM,{ 3 Cﬂ\@ﬁﬁ&/ WW v

10. Community & Caste: ........ ,,CC ......................................................

c. Intermediate Studied : fWé&j&*Cp@%

d. Intermediate Percentage : @'r/‘

Date: [A# /J//W ~ | ture
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AVANTHI S 2l Bk

{(Approved by PCI, AICTE & Affilioted to JINTUH)

APPLICATION TO AVAIL FREESHIP/CONCESSION
2020-2021

1. Name of the Student: J2AICA LA A RSHTAMNL o
2 Registered no: ... 2.0(n.MNIL0.0L 6

3.Branch: .. o PH@M%....T‘SFYC&Y

4. Father name: P%&hdYo\?{mgaAQM ..........................
5. Mother Name: ..£3....A). AP s 0 SR

6. Father Occupation: PYL\/CB\J\\Q..QD’Y\ ?] Oj ce

4
7. Mother Occupation: .XY.QMU32.. 221 4
8. Parent Income:  .......... 1 7.@%.0.(20.. £ = N

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512.

9. Residential Address: ..|.3 = \m:':éhk} L L?Q)\YO\?YO\?}J/)’\"“CO oYy BCWQ(L“%U‘*‘L

Nego\ €.

10. Community & Caste: ........ 40|

11. Eamcet Rank: 3\75g ..................
12. Convenor / Management: Momogeme%

-
13. Previous Education details: LD)W

a. School Studied: j?hh%ﬂh(mYQ\YV\‘fMY SCHOO]
b. S.S.C Grade / Percentage: (ﬁ""\)g‘s
c. Intermediate Studied : Sﬁ@mk’h’x%,}/u V\A‘OY Co (,LCQ_Q

d. Intermediate Percentage : %]‘/a

Date: \6 \ ] ‘2,) 2020 /_9// SW

m



AVAN'I‘H INSTITUTE OF

PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affiliated to JINTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramecji Filmcity, Hyderobad - 501 512,

APPLICATION TO AVAIL FREESHIP/CONCESSION
2020-2021

1. Name of the Student: &HUI4Y6«_SMTHDQH ...........................
2. Registered no: XO@N)[Q.ODO@

6. Father Occupation: r—ﬁr

7. Mother Occupation: .....cccceeveeenvererveneeeeneene

8. arent Income: ..l L0 ). OC L

. Residential Address: VA 84 ... Thasnala, oLl kedus,, W\avloubovb«v(
10. Community & Caste: :.Sﬂ— ......................................................

11. Eamcet Rank: ...... L—[’O#—( ....................

12. Convenor / Management: ......ceceeeereeeeeeceeseeseeseesesessssassnnens

1
13. Previous Education details: lQ’J—ONQ&, .............

Date::go/ “// 20




it

{Approved by PCI, AICTE & Affilioted to JINTUH)
Gunthapally (V), Abdullopurmet {M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

X AVANTHI RS IITUTE QF

APPLICATION TO AVAIL FREESHIP/CONCESSION
2020-2021

1. Name of the Student: \fED"G,ST_p;)HARTHA
2. Registered no: . A0.07.0.1 00 57

3.Branch: ... 13 Phaxoea.ty T 2% Yeay

4. Father name: \/\/ka.gpfrdg% .................................................................
5. Mother Name: ... M. @I I

6. Father Occupation: }QMP’DQQ*‘OY

8. Parent Income: ... AL e

9. Residential Address: HNOZI’—H‘?PUVk/(LV)N a3 UuY lab 0\9& (“’\)
d

Famaveddy (D)

10. Community & Caste: BCL ...................................................
11. Eamcet Rank: 9».&33/0 .....................
12. Convenor / Management: ....C. QA VENQYX..............

13. Previous Education details: .........ccoeevviievceiin e

a. school Studied: ... A JC3 hava... aiah % choo]

b.S.S.C Grade / Percentage: ...... ATQB ........................
c. Intermediate Studied : ...... [\}O\'Yo\yoq\m ..... Jundlov CG/\'\QCQY,Q
d. Intermediate Percentage : ....... A L‘f;/1 ................................

Date: & Ol \9\\ 2.02.0 ‘ gnétw
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Gunthapally,

AVA NTHI siSactinicat sciences @32

{Approved by PCl, AICTE & AfHilioted to INTUH)

Gunthapally (V), Abdullapurmet (M), R.R, Dist., Near Ramoji Filmcity, Hyderabod - 501 512,

Date: 28-12-2020.
From

The Prinicipal,
Avanthi Institute of Pharmaceutical Sciences,

Gunthapally.

To
Chairperson
Governing Body (GB),
Avanthi Institute of Pharmaceutical Sciences,
\
|

Gunthapally.

Dear Sir/Madam,
Sub: Request to sanction of Freeship Amount.

Reference: 1. Avanthi Freeship & Merit Scholarship Policy.

This is to inform you that Avanthi Institute of Pharmaceutical Sciences conducted an
exam “Avanthi Freeship Policy Test” on 17-11-2020, 26-11-2020 and 04-12-2020 to the
students, who are willing to join in Avanthi Institute of Pharmaceutical Sciences in first year
B.Pharm and Pharm.D program for the academic year 2020-21. Based on their performance in
the test, they were awarded marks and eligibility for Freeships in accordance with rules and
regulations of Freeship internal policy. I enclose the list of 62 students, who are qualified in the
test for your reference. In this regard, I request you to please forward this students list to the

Governing Body for sanctioning the Freeship amount for further proceedings.

The details are also enclosed for your consideration

Thanking you sir

Yours faithfully,

4 Mﬁgyyzucal EM@LOH it i:;tr“n:;tﬁ(M)

Junthea“Rr b.\Sx Mangana




INSTITUTE OF

AVA N I H PHARMACEUTICAL SCIENCES

(Approved by PCl, AICTE & Affiliated to JINTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderabad - 501 512,

AVANTHI FREESHIP STUDENTS

ACADEMIC YEAR 2020-2021

The following is the list of students 62 are selected from Avanthi Freeship Policy test. Based on

the merit of the results, the fee concession is given to the below students.

S.No Course Hall Ticket No Name of the student Amount
1 I YR B.PH 20GN1R0001 ADEPU RAMAKRISHNA 15000
2 I YR B.PH 20GN1R0002 AMBEERI SATHWIK A 14000
3 YR B.PH 20GN1R0004 ADEEBA AFREEN 12000
4 I YR BPH 20GN1R0008 BHUKYA SANTHOSH 9500
5 [ YR B.PH 20GNIR0009 | BIRUDOJU LAXMI PRASANNA 3000
6 1 YR B.PH 20GN1R0012 CHILUMULA ABHINAY 2500
7 [ YR B.PH 20GN1R0013 CHINCHILAPU PAVANI 1000
8 1 YR B.PH 20GNIR0015 D SWAPNA 7500
9 I YR B.PH 20GN1R0017 DUBBA NAGESWARAMMA 1500
10 I YR B.PH 20GNIR0018 GANJI NARMADA 9000
1 YR BPH 20GN1R0020 GUDIPATI SWATHI 3000
12 I YR B.PH 20GN1R0023 JATAVATH RAJESWARI 2500
13 I YR B.PH 20GN1R0024 JATAVATH SWETHA 1000
14 I YR B.PH 20GN1R0025 KALIKINI PRATHYUSHA 2000
15 [ YR B.PH 20GNIR0026 | KALUMADI DURGA SRI VEDA 1500
16 1 YR B.PH 20GN1R0027 | KATTEBOINA JAYA PRASANNA 13500
17 I YR BPH 20GN1R0033 MALOTHU PAVAN KALYAN 9000
18 [ YR B.PH 20GN1R0034 MOHAWQAAE&“&%JEEB LR 2500
19 [ YR B.PH 20GN1R0035 MOTE DEEPTHI 1500

20 I YR B.PH 20GN1R0038 NARLA SRICHAITRA 8500
21 [ YR B.PH 20GN1R0041 NENAVATH SIDDU 7000
2 YR BPH 20GN1R0042 P NIHARIK A 1000
23 [ YR B.PH 20GN1R0047 PRAVEEN KUMAR M 2000
24 I YR BPH 20GN1R0048 SARILLA HEPHZIBAH 1500

e~ -/“f; ‘\;‘ 2 nf‘:‘; e,
SN\ ML TP

Committed to,;[{&




AVANTH

INSTITUTE OF
PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affiliated to JNTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 312,

- -

25 I YR B.PH 20GN1R0052 SUMAIYA FATIMA

26 1 YR BPH 20GN1R0054 TALARI SAI PRIYANKA

27 I YR B.PH 20GN1R0055 URADI MOUNIKA

28 I YR B.PH 20GN1R0056 VUSTELA SHIVANI

29 I YR B.PH 20GN1R0057 YEDE SIDDHARTHA

30 I YR B.PH 20GN1R0058 YEDLA SAMPATH KUMAR

31 I YR B.PH 20GN1R0061 BOBBA SURYA CHANDRIKA

32 I YR BPH 20GN1R0062 CHAKALI VENKATESH

33 I YR B.PH 20GN1R0065 MOTKUPALLI SWATHI

34 I YR B.PH 20GN1R0066 PAKALA HARSHINI

35 I YR B.PH 20GN1R0067 SARIKONDA VISHNU VARUN

36 I YR B.PH 20GN1R0068 THUMMALAPALLY HEMA

37 I YR B.PH 20GN1R0069 U HARITHA

38 I YR B.PH 20GN1R0070 VELPULA AKLESH

39 I YR B.PH 20GN1R0072 AADIL REZA

40 I YR B.PH 20GN1R0073 ANAGANTI SAIRAHUL

41 I YR B.PH 20GN1R0076 BOMMINI RAGHAVENDRA

42 I YR B.PH 20GN1R0082 GUGULOTH RAJESH

43 I YR B.PH 20GN1R0087 MD SARFARAZ ALAM

4 I YR B.PH 20GN1R0089 MUNTASHIR ALAM

45 1 YR B.PH 20GN1R0092 PALEM PARAMESH

46 | IYRBPH | 20GNIR0po4 | 'ORALRARSAMPATHERUMAR

47 I YR B.PH 20GN1R0097 THIGULLA MANASA 4500
48 I YR BPH 20GNIR00AO YEMOLLA MAHESH 2000
49 I YR PH.D 20GN1T0001 BATTU RAMA KRISHNA 4000
50 1 YR PH.D 20GN1T0002 GANTA SURAJ KUMAR 2000
51 I YR PH.D 20GN1T0003 GINNARAM SRIDHAR 1500
52 I YR PH.D 20GN1T0004 GUDIPALLI DHARMARAJU 1000
53 I YR PH.D 20GN1T0005 GUNTOJU DURGAVASANTHI 14500
54 I YR PH.D 20GN1T0011 PAVILLA SWETHA 10500
55 I YR PH.D 20GN1T0012 | PEDDA ASHAPOLA MANISHA 1500
56 [ YR PHD 20GN1T0013 10 7POREDDY SHARVANI 1000

Committed to E,?/ /Ye
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AVAN'I‘HI INSTITUTE OF
PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affilioted to JNTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 5312,

57 I YR PH.D 20GNI1TO0015 THAMMALA VAISHNAVI 1000
58 I YR PH.D 20GN1T0016 CHOLLETI ANUSHA 2000
59 1 YR PH.D 20GN1T0017 MOHAMMAD MUNTAZ AHMED 3500
60 I YR PH.D 20GN1T0022 B SHREYA 1500
61 I YR PHD 20GN1T0027 PUSULURI SAI SRI HARSHA 10000
62 I YR PH.D 20GN1T0028 SUNCHIKALA LAVAN 1500
Total students: 62 Total Amount: Rs 2,93,000

- ¥ T TITUTE OF
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AVANTHI INSIITUTE OoF @ WA

{(Approved by PCl, AICTE & AHiliated to JNTUH)
Gunthapally (V), Abdullopurmet {M}, R.R. Dist., Near Romoji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name QWW‘?Z\M %D/o @%ﬁpﬂjﬂj\/
Branch B/‘fWVROH number.}.DéN.’.ﬂ.@@D!. Concession / free ship

in tullo\i{fee / Hospital fee / Transportation fee / INTU fee / amount in Rs ./ 5. 1008 ..
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AVAN"‘Hl INSTITUTE OF
PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & A#filiated to JNTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Romoiji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name @Sﬂ\%}wm Slo /Do . D N&Wmulw

in turfion fee / Hospital fee / Transportation fee / INTU fee / amount in Rs . .‘.7./5 on..
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22 AVAN'I‘Hl INSTITUTE OF
5/ PHARMACEUTICAL SCIENCES
{(Approved by PCI, AICTE & Attiliated to JNTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Romoji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name P*'H?&%L\(z")’\/ou S/o/bﬁ..ﬁ.t.gégm.ﬂwaé/

Branch &TL@WM? Roll number.?@.é}.N’K@*ﬂéﬁ. Concession / free ship

in tuition fee / Hospital fee / Transportation fee / INTU fee / amount in Rs Il 1500.. .
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AVANTH] INSTITUTE OF
PHARMACEUTICAL SCIENCES
{Approved by PCI, AICTE & AHiliated fo JINTUHN)

Gunthapally (V), Abdullopurmet {M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name 3’3- o & .

\/ P
...............S/o/D/o..:l%.t..Leﬂ-.fC/Ls./.»..

Branch &”’fwﬁ’\ﬁjf Roll number. 222 G/ IR BDOL Concession / free ship

in tuitme / Hospital fee / Transportation fee / INTU fee / amount in Rs . Q o0 ..
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{(Approved by PCI, AICTE & Atfiliated fo INTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Romoji Filmcity, Hyderabad - 501 512,

) AVANTHI \NSTITUTE OF

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name y oS;ochaKQU\q, /57 Dlo \/,\/ém(@j:&?[\

<Roll numberw.&f.\.j.? .@QDQ.?.’Concession / free ship

Branch & "'}9 2K

in tuition fee / Hospital fee / Trans}(rtation fee / INTU fee / amount in Rs . é, §D.D. .
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INSTITUTE OF @ZN o

AVAN I Hl PHARMACEUTICAL SCIENCES

{Approved by PCl, AICTE & Affiliated to INTUH)
Gunthapally (V), Abdullapurmet (M), R.R. Dist.,, Near Rameoji Filmcity, Hyderabad - 501 512,

\..__,-

"‘Pue

Our institution committed to provide freeships to poor and economically backward students. It is

applicable to the students who do not have parents or either father or mother has lost their lives

they could avail the opportunity. We also offer freeships whose parental annual income less than
one lakh. We ensure that this financial support will helps the students to reach their goals. Here
we are providing the list of students to whom we have provided freeship from college along with
their requested letters.

S.No Course Hall Ticket No Name of the student Amount
1 11 YR B.PH 19GN1R0001 A DHARMATEJA 3000
2 I YR B.PH 19GN1R0003 ARROLLA ARUNA 3000
3 11 YR B.PH 19GN1R0004 ATHARI PAVANI 3000
4 II YR B.PH 19GN1R0010 CHENNALA VAISHNAVI REDDY 3000
5 11 YR B.PH 19GN1RO0015 DYAGALA DEEPIKA 3000
6 I1 YR B.PH 19GN1R0022 JOGA MADHU 3000
7 II YR B.PH 19GN1R0026 KANNA MADHU 3000
8 11 YR B.PH 19GN1R0027 KARRE KALYAN 5000
9 11 YR B.PH 19GN1R0030 KURMA NAVYASRI 6000
10 I1 YR B.PH 19GN1R0032 ABBANABOINA SRAVYA SRI 5000
11 I1 YR B.PH 19GN1R0036 APPALLA VAMSY SUBBA RAO 5000
12 11 YR B.PH 19GN1R0046 GADDAM SNEHA 5000
13 11 YR B.PH 19GN1R0063 GUTTI MAHESH 5000
14 II YR B.PH 19GN1R0065 MUTHYALA SHIREESHA 3000
15 II YR B.PH 19GN1R0069 SHARAN BABU 3000
16 II YR B.PH 19GN1R0071 AEDLA HARISH 3000
17 11 YR B.PH 19GN1R0075 BARLA RAM 3000
18 II' YR B.PH 19GN1R0077 CHENNOJU SHASHANK 5000
19 I YR B.PH 19GN1Ro0g3 | CUNTUKUMADHUSUDHAN 5000

20 II YR B.PH 19GN1RO0085 K. RAHUL 5000
21 Il YR B.PH 19GN1R0089 NAKKA SUPRIYA 5000
22 II YR B.PH 19GN1R0092 NATTE VASANTH 5000
23 I YR B.PH 18GN1R0001 ANGALA PADMAKSHI 5000
e in Technical Education -
\;\/ﬁ'ﬁ’ |TE OF
AVANTH. — ZNCES
. murmet (M)
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INSTITUTE OF

AVAN l H PHARMACEUTICAL SCIENCES

{Approved by PCl, AICTE & Affiliated to JNTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoiji Filmcity, Hyderabad - 501 512,

24 111 YR B.PH 18GN1R0004 BELDHE SWETHA 5000
25 [II YR B.PH 18GN1R0012 DINGARI SREEJA 5000
26 I YR B.PH 18GNIRO0031 PANGOLLA BHAVYA REDDY 5000
27 III YR B.PH 18GNI1R0033 PINJARI THAHARABHEE 5000
28 11 YR B.PH 18GN1R0038 SADIA OMER 3000
29 IIT YR B.PH 18GN1R0040 | SIDRATH UL MUNTAHA QURESHI 3000
30 [l YR B.PH 18GN1R0050 GORUGANTHAM SRAVANI 3000
31 I YR B.PH 18GNI1R0058 NAKARKANTIKAVYA 3000
32 III YR B.PH 189R1R0060 G GOMATHI 3000
33 III YR B.PH 17GN1R0024 KORI KASHIVISHWANATH 3000
34 IV YR B.PH 17GN1R0036 P RAGHAVENDRA GOUD 5000
35 IV YR B.PH 17GN1R0044 SUMAIYYA MEHREEN 3000
36 IV YR B.PH 17GN1R0052 GOWROIJU ROOPA DEVI 3000
37 IV YR B.PH 17GN1R0056 RAMATIJASHWANTH 3000
38 I1' YR PHD 19GNI1TO0001 BALLA SHEETAL 5000
39 II YR PH.D 19GN1T0002 BEESAM SAI MANISHA 5000
40 I YR PHD 19GNI1TO0010 MUDAVATH VARSHIKA 5000
41 II YR PH.D 19GNITO0011 MYAKALA SAKETH REDDY 3000
42 II' YR PH.D 19GN1T0013 P BRAHMACHARY 3000
43 II'YR PHD 19GN1T0016 SANIA MAHEEN 3000
44 YR PHD 19GN1TO0018 CHITRAPU SRI SATYA DURGA 3000
45 II' YR PH.D 19GN1T0022 ADDAGATLA ANUPAMA 3000
46 I YR PH.D 19GN1T0024 | BOLLAREDDY DEVENDRA REDDY 3000
47 II YR PH.D 18GN1T0004 AKULA SINDHUJA 3000
48 II'YRPH.D 18GNI1TO0010 YELKUR MEGHANA 3000
49 [I1 YR PH.D 18GN1T0012 MALLETHULA SHIRISHA 5000
50 [II YR PH.D 18GNITO0019 KASARAMONI SWETHA 5000
51 III YR PH.D 18GNI1T0020 JANNU UMESH KUMAR 3000
52 IIT YR PH.D 18GN1T0023 JUMMALA YOGITHA 3000
53 [T YR PH.D 18GNITO0025 V SAT PRASANNA 5000
54 IVYRPHD 17GN1T0014 POSHALA BINDHU 5000
55 IVYRPHD 17GN1TO0015 KANCHARLA ASHISH KUMAR 5000
Y‘\L——-&
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{Approved by PCl, AICTE & AfHfilioted to JINTUH)

Gunthapally (V), Abdullopurmet (M), R.R, Dist., Near Ramoji Filmcity, Hyderabod - 501 512,

56 IVYRPHD 17GN1T0022 CHANDAN KUMAR SAH 5000
57 IVYRPHD 17GN1T0024 GANGAPURAM SAI PRAGNA 3000
58 IVYRPH.D 17GNITO0018 CHENNAVENI MEGHANA 5000
39 V YR PH.D 16GNIT0012 MARTHI SWATHI 5000
60 VYR PHD 16GNI1T0013 TARALA KAVYA 3000
61 VYR PH.D 16GN1T0017 E SAI KRISHNA REDDY 5000
62 V YR PH.D 16GN1T0020 S KUSHAL 5000
63 VYR PH.D 16GN1T0015 AFSHA BEGUM 5000
64 VIYR PH.D I15GN1T0019 ANISH KUMAR DAS(S) 5000
65 VIYR PH.D 15GN1T0025 K VAISHNAVI 5000
66 VI YR PH.D I15GN1T0027 N HEERANMALI 5000
67 | IYRMPH(P.CEU) | 20GN1S0301 CH YASHWANTH KUMAR 5000
68 | IYR M PH(P.CEU) | 20GN1S0302 G.RAKESH 5000
69 | I YR MPH(P.CEU) | 20GN1S0303 KOMAL YADAV 5000
70 | IYRM.PH(P.CEU) | 20GN1S0306 Y SUDHEER KUMAR 5000
71 I YR M.PH(P.A) 20GN1S81201 ANGADI NAGESH 5000
72 I YR M.PH(P.A) 20GN1S1202 BADKA ASHWINI 5000
73 I YR M.PH(P.A) 20GN1S1203 B BHARATH KUMAR 5000
74 I YR M.PH(P.A) 20GN1S1211 KUYA MANI KUMAR 5000
75 | I YR M.PH(P.CEU) | 19GN1S0310 K KIRANMAI 5000
76 | I YR M.PH(P.CEU) | 19GN1S0302 C BALAKRISHNA 5000
77 IT YR M.PH(P.A) 19GN1S1204 KANCHARLA SINDHUJA 5000
78 II' YR M.PH(P.A) 19GN1S1211 AMPILI DHANA SEKHAR 5000

Total students: 78

Total Amount: Rs 3,27,000

et
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AVAN’I‘H INSTITUTE OF
PHARMACEUTICAL SCIENCES
{Approved by PCl, AICTE & Affiliated to JINTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

Gunthapally,
Date: 22-03-2021.
To
The Governing Body (GB),
Avanthi Institute of Pharmaceutical Sciences,
Gunthapally.
Sub: Letter of request sanction of Merit Scholarship amount from college budget.
Reference: 1. Avanthi Freeship and Merit Scholarship Policy.
2. College Academy Committee meeting held on 17/03/21
Dear Sir/Madam,

This is to request you please sanction amount of Rs. 80,000 (Eighty thousand Rupees) for
20 students into the college budget for the academic year 2020-21.

The details are also enclosed for your consideration

Thanking you sir

Yours faithfully,

W
2 g
"t \6‘
M
\:;"
¢

AN

Committed to Excellence in Technical Education
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AVANTHI INSTITUTE OF /\ &
PHARMACEUTICAL SCIENCES  (§ ) NAAC
| (Approved by PCl, AICTE & Affiliated to JNTUH) » e
‘ Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoiji Filmcity, Hyderabad - 501 512.
Merit Scholarship Students List with Amount
Academic Year: 2020-2021
; The following is the list of students 20 are selected from Avanthi Freeship Policy. As per the
merit, the academic toppers are selected and given prizes, with the first topper awarded as
Rs. 5000 and the second topper as Rs. 3000.
SNO| COURSE | YEAR |, AUl AR MERIT | AMOUNT
1 B PHARM 11 19GN1R0013 D.AAKARSHA I 5000
2 B PHARM I 19GN1R0029 k.GAYATHRI II 3000
3 B PHARM [1I 18GN1R0072 G.SRAVANI I 5000
4 B PHARM 1T 18GNI1R0063 R.SAT KIRAN GOUD I 3000
5 B PHARM v 17GN1R0044 S.MEHREEN I 5000
6 B PHARM v 17GN1R0038 P.PRIYANKA I1 3000
7 PHARM D 11 19GN1T0002 B.SAI MANISHA I 5000
8 PHARM D I 19GN1T0014 P.SADGUNA 11 3000
9 PHARM D I 18GN1T0001 A.ANUSHA I 5000
10 PHARM D I 18GN1T0018 J.SUSHMA SWARAIJ 11 3000
11 PHARM D v 17GN1T0024 G.SAT PRAGNA I 5000
12 PHARM D v 17GN1T0014 P.BINDHU 11 3000
13 PHARM D A" 16GN1T0030 K.GOUTHAMI I 5000
* 14 PHARM D \ 16GN1T0003 A.CHANDANA 11 3000
\ 15 PHARM D VI 1SGN1T0009 K.ARUN KUMAR | 5000
16 PHARM D VI 15SGN1T0012 K.SRUTHI 11 3000
17 | M P CEUTICS II 19GN1S0304 K.SINDHU I 5000
18 M P CEUTICS II 19GN1S0310 K.KIRANMAI 11 3000
19 AN/II%JI;S IS I 19GN1S1204 K.SINDHUJA I 5000
| 20 | inAlwss || 19GN1S1209 V.RAMKUMAR 1l 3000
Total students: 20 y o mvw | //7/’ B Total Amount: Rs 80,000
C OII{EiI\I tted to F,xx:é)lle}l

ﬂr?nﬁ'k‘(* i}cakﬂqupcatmn

PHAF’.X'\":;-“" BTG
. AT __/4 Z ot is
RN sunthapally (V}.

Bctidetl R '2{ Dist

Liot.

127
146




oake * 22|01 ay

o,

The. PN’MPJ .

Avomsle, trafidule o e
C«unﬂxafcddlﬁ.

R(Apu/p ‘QQJ 51"5& .

%; Q Qo ; 'Dee) amcm')‘m‘

k.SwG/HW Pyvm FLwVwao'
(p Wb 37

e do lhab

&&Lwﬂwu&aa@&% D

levgw& Celerlled.

T am

(ELW HT. No ¢ 1¢ (i polg, S am wm'“?

)
I s B .
Jeas Adef cor €4 W)

aavelling N sy 30
S \Aﬂ 0\}3 " e 1 br\(ﬂ/o‘z ﬁWMjwj
iium% b/\ewxe)\ 4o Jho W
fyee (5000)
seduee ™Y bk S
() \ ow >
R Toankteg ¥ o bl
PeN /35}/ k. suete
C/ \%Q(\HTOO[Q
sl
Siguohse
L.




Date. + 90|t |20

TO

Tho poinaipal) 8\
AVoRtER insibuxe, oF phoosmoceuiical  sdlenes

G’lN\M{)%
Respetied SIF
Sub'T RegosAing e concesRen
2 om 3-Yogdtha From PhOI™M-D

O feoX  MT-N0 : \gapfo0td. T am  WHRERG s

ARxes Yo \nRowm WO Yhok T o o Sivgle  passent
D - 50 Vw urope Yo poy Lol fee. §'m request
Joul ko eliek gome  Cee. forn Full fee (zeed)

Thofing you 8

PR A YousS obidenttly
I+ yoqt thaw

\8 s L TOO23

Yogivha.
Janaklne




rr | ;Q;,lmllﬁk

Gunthapally,

T prinepl g
74\!0@/\4’&1 'j:—l«uft‘z"*t @6’ PLM/Y”CLCQU‘(;CAQ gc','ce/mCU.»,

Respeced St
%i.[g!_, Re?amﬁi/wﬁ e Concemion ’
= am. Y- Meghana - From YT pheo .

HT No -1 8GNUTOoo0 10 SMW\LJ PMW&X . . wO&KZMﬂ
lobouwv W& W'P 066“9100 tod el 06' fee: S
- e gou o educe Y fee (000 3

-lewml{\‘w? (ﬂ o 2o

'\T\) \

M) anw'g *gﬂi{'g\w‘j '

/7?// \[,, M&@L\&M
Ty phenm D

(IR NTOO \O

agl -

i—‘;
(JS




Dade - aoliz |20 |

Yo,
The povnUIQal A\,
Avosirty, Tasane. o
Gun thopally . Aborek.
ReR (4380

ohosstao e ace) Saenes,

=
Y %Tuhmc@mg
" N yeass  PResT D
suk~ Appltelon RoT  Gee (oncesSon

T -« RN GCNOTY Coom ﬂ/v\d\ Yeox

"

| Promm - © wloge - DUk fo fnenciol ISR
by my Fomily we oxt wrobe  to pouy the Suli fee

L veuuelt you ko Wandly  Consioler MYy cpplication
$0T o oy foe. cpnceRion S0 Mot T CON
ontinue. My gtudies withoud ey olg tusbonces

T wy be grakelud Sov \QWouss rA  cotsideraen
Q’%ooc;)(/

—_— Thonlol
x N e Sy /
@ @ ?*%m“\uc\\g@,
’B—M\ WReSs thm%
tYGWT 00 \2.

P ehosma.

1131




LD[(LK'LD, f

Q\ LLV\'HAO\PO\“:\». ‘!

|
I

‘ TO’
The Py?w‘ipak N
Aol Tuckbute of Plusmacentfsd  cclency,
e C\u\)\mﬁpoduzj.
Qupec}'ed R,
Ll Keﬁm&fwg Dee  Concess®on,
Lo ¢ Roope. De?, TV yaor  of

@‘PLMW\«. AT.No? 3G\ tRppSs 2 . &?\rnt & b ’?YD""‘

gg\fe/\tj poor géw\ﬁf.j y.o v\«j (P“W"’J"& aje. wat paell

|

‘%('ﬁyow, oot Hews ol Ro. T ot offod tlod

—

Yo oty
h Q. Roope Dot |
N Ye R. Plosin,

\AE R O052 |

132




| G\UDW\O\Q@\H .
o
The P adiple .
Moy Tooaruse Oy Phemad oobal guenssy
G\Uﬂ\kinc\pa\\y

%ez‘)eck ed S\¥
Sulo Regondicg e (N X510 0
T om @IORL @‘\A%\g oy ©.Phanmecy.
HTNo. \a60NIR000Y . T »equott Lo Pluadpal Sy €o
Sedut Sane Yo fee o3 tam fem  pood prily. |

T Co\,\"v 90“,3 e rou Bee 80 Q\eo&e Yo Ao

b
u\S‘rk\i()%Qe CBOO@)/

| o !
20|12 20, |

QQ T X4 You ¢ z&
A soking You S
3
| YouN S \TQ\WV\\\:) , :

N Rovand ;

@y 8 Phe |

A (N R 00OY |

133



20| It lzo
&DAW&LLH

To
The Pmupak%m
| A\fm\)ﬂm 1 odbuda ok P\/thmcwk@l & Lented

Grorshopeiag

Qexpecﬁu:ﬁ NGE
Sobt - er:@«—'\c\ foo &

ALRNON -

NO~ {f.rorvx p\@jU’V\O\A(

-
Q< GMGLWPO‘O\ {g\m& .

pm&&

0 D%L R
’m,@)ﬂ\\iow'ﬁ/uﬁiilmk‘mp . geTn

| oo ko Freled
hombly maluubwﬁ Y
| okl L,lowgljl )
{ﬁ& %OUO\\A MMJ

e  eep Y ’gﬂ,M,H Yy ?WL“{ neome. |

z

o (o
\L ‘$ © uh"{’\/‘v .
T f\D& EAD\‘)W to PO“\-I %\” govvue/ ke/ebo O)/ k

mﬁ (- Slproqaa-
B % R GOV T
phrosem -0
W Jeot

134



Dok 1 22 |olhery

To,

The pm'ncrple ey

Avenrfy molrly 8*6 ,)LM@WW Cenr.
C’(‘“H*ﬁd)’)q y\v’

Q&Pecw Qa"zf/
(S-UQV )Q\IUQmG'V\J érfte .(@Y)CCGQQ‘DYL

1 am S s bl #\'{)m p b 1) Ve

HT NG (68176006 . Taw ww‘#»U T Ly Ho iferny
ARGt o e o, e {ﬁnumub‘/ WDL)M’ Y mﬁ
4&%@1 healll, 4yt Wet| S0 T m wetblo 4, 9027 %N

‘%? 0 Plegp o " @zzma,e Fec Booo],

e

16N 1 TOO D

135




i

1812 |2
qUYl“HAOPQ{{j

90

(r\'\fl Pﬁ(\ CL'PO.J

autodnrver -
]

Avanthi nsf-tute ,9{1 PLLarma\Ce/uwaaj SCrencey
QUnﬂ\anlbj .

QUP@,C;GQA i
2ub - &3‘”0’""‘3 "fQQ Conceshion

Tomn T kou/ga fom PL\wm—D;Vﬂeax,Qol(.l\/D’r
[6 GIVITOOI3Z . Tom (,or\'{"h'nj tHis  Lotter 4o iInfpm o4 |
Hat dom +om Very pooy r—fml’lg, oy fathor 1o
Fothar tncome S not enouﬁ/lf\ to

Pay full feo .

So, I IAOW\JOE:( YQ_CI/UQS’()'fg you o vecluce Ha feo
(3000)

= Than kj"vﬁ Yyou.
\?D\Sw
mg} Your erc&thS,
T Kavg o
légMTool 3

136



1. 92 (o /).
Y Y ydrbad

/i /ﬂﬂd/a/ Al | |
puanty Todluk G /Wmmm/ N2
(untbaply (1), Abdwa/mm/ [r1)
RF [dist)
Sub - ﬁafmdfy Yz (oI,
K@O/%CZM X
Tm (- Sravan/ frem j/’/YC//W ﬂM

/ b B
Tis s A /ﬂ/{/m’) //Zz ,%‘% ’7 MV / // //M )

108wty - 7Y
Aduw, & ol gty 4
e 1o /ﬂ/ 7 /4// S A0 f/ﬁ/m% W@/ /4/

v oy 1ec /'gﬂm)

o 4]

| G Sy

j?;*“ /MY 6/%
Lgq IV IR0050

137




10 12[2/2)
Twe. Penclpal. Hﬁdefqqu

Auartnt Tuetitote of pratma etiial Sctorteg

i
i
i
¥
i
]

DS SS————

D\uni-v\gpqmd C\)‘{j‘ bole P etme ¢ Cm)

Qwaakedaa Cafet)

%—i—bg" Reﬁawo\@_a fee f@deExa

Rq&c_@aix
—l\m &, ey '?"DW\ E“d 3@1 BPkC\‘Km —T»qb

here YO Snberm 3ouﬁimt.&%ce mj Yarhes a\oua 306

—frgo We Ode. Mot 3@tt‘ucd

Qmuah MO ngd mg Yatme EJ’
s v g . posy fo (o) So. e vy

e L\uht‘ua Ao YUfef  8ome Yee.
| %\0 ‘Thomuﬁ oy
SR
[b\?/ Yawly fa?wfwx
8¢ OMes
T¥d yea) B.phaw
RontRoo 2R

138



Rale 99 lia [0y
G\unb«apo\ls.
“,
The Principal Wy,
o, e Bemodiod iy
Granbra paryy -
Qegpeeseé Q%

Wb Qeqardig hee  consescion.

Dom k. Kigan mal Ao m\:\o&n@y@x

HT o+ 196M 1203, Fam Woking -his Ly, s \“\“‘“3‘3"“

k- ‘“—3 ‘Hrws 'UECm\%l Behre A )«ysm Yot 50'5 &q§ ouR0 |
hiq heartn e r\o\ well Qoo Lpodee Yo 903 haatt
ba (so 0036/“/ |

e ——

—\-Lm\e\‘nvg You g

& RV .
%\X /\ | 70\*%5 D\:\&u\\?%
} o |44 oot
la g tlgo 2o
g
\eAsansd
Sqrabuone

139



12 lo2 |2 )
)

Sun \qpﬂll Y,

—T0.
The =g ‘imCLszxQ < ,

~Avawth; Twueltldde of P\ﬁamucead‘icm Scienc e

Cﬂmﬂapqll%/w—/\MU(ﬂmw metu (M) R-R - LD“”)

SLP LDI@C_{ :"" ‘APP[?CCT‘TOY\ ‘4C‘y 4&& ” X(SA LLL‘lV\(y‘

E&’ s Pec—{*ec_‘l <Tx ,

A o & @DM,,T{M Fryonw B P\’Y"WWL

W veny g oaw cortling ki Lettey —for nﬁggé
dery o concescivn, en vy —Furlion. -fee ’(fgﬂgog)qug
my HAerthey uos ol ' peeping et Hoy —the lagl Hew
momthe TTheredore, —tue Hamily. Gnceme et been
Vasty . ecreated . cmd very \ess. qoney 1S (et A

oy —+te EXPGV\ng cf Wiy g1t1c\?e$—aj O be .\\ﬁﬂ\\\%,

oY TTheweing  yeu.
your's.  Swce Ye/(‘j) )
G Spowier] N
3 yeax. 24?‘\0\\(“
\C9& g 1R 0060
Lo

Obl?ﬁecl‘ - G2 MYy . Yeeurst Can e \<°(Yb\(k1~ —ovelexe=d.

—

140




AAAAAAA | ._WW_M,WW
20| 12|20.

<TO

The Wnuw ¢,

P Profte 64 pam
éfc_mﬂq},mlhg (v PYML&MQWW (W),
P@«%ﬁé\\fﬂc@‘j ( dit)

- Sub? A?ﬂ)‘f“g‘d‘ dov  ders  (en@sien:

a CO/LUL\QCOL( g(‘/;eh(b(g/

Wﬁfﬁ“‘b Ahig |elter  {o I(I/DM rfor
L et éhau?{ﬂ Prohey +o
Se ’f‘\w""' K h@t (/houa)/a enesy




The pPrin(ple S Grnirc Vé’lﬂj,

Avanihi gnfl'/'ﬂ‘ff oF PAMM&LCWH&/ Sriencd.

GuiThapaltf.

Respected Sy

Sulb!- ,@ﬁémlmj Tution Fee Coneesion

T am kama Mol OF f’jea% B phadin HNOH I TGNIR
‘ ee-
to You 0 Cegeece MY qution F

I vequadt .
peco8e & Sl'nj[g prent il ;:Mj ) /@
4 So
Jannot o ffosd hat nllh o Fee
my 7 Gy fao00),

M@@ gt Facthpfelty

U B Phaim.
[9G/MIL002E

3

142



e - rzsfodzs
CIVL”WP“M\/
10,
The 0 iped 3:‘,}
Ot Yosd it de ﬁE’ P%avmﬂ\(‘e/u&'?’mfl

C,\\/x()""’\o\ Pm'tt’) ’
Respected s,

_SLAJ’DL 2c acu’,&‘ﬁca 2’(’ C«Odé’/u;bo
“Ware dormodl \/Cx(:’ﬂm qupm M Pregro /‘13"’
\Jéoﬁ) it Ho. 2@9\\)( %0307 LQ(V‘O RSN M/\j 1@‘&467‘7
o oD Ne Y —H/ﬂa—}— (Txd (:’/';t'h‘ffj 'S 0 —'Pa.{m@g( })\/
cvccu_po«clfof) ol e BEnoeon 'f‘uarP 'HM Yiﬂx? @ O
%eO\/Ld .‘5]0M"W@4M o’««L o o2 ,@uaz A Op> N LM,)
clzma\ﬂ@-dx cnd v deatn't ﬂﬂ’l“ ’f>‘?107>c7 M0 Corve
Lo Qm() h.ha‘mxg .:]CQ/LM@MDJT*? Qv»" = qelw‘qustw‘

QZ@ & b~ 5 2 oNc CALNPON) ( TD o0 ) —
‘ m\J CJ\ ene ‘f\g VUL @ '{\JI
PRy ’

s, g by

)
v

bo MU Cr C)C’\/

QOU,\A A% o0

Mo,

S fcf\ﬁJw\/p

+




\

- AVORA

mep; \%\ o\9)
G\u‘\\hO\?O\\B

10
The (n'md‘)oj Sy

aInstitute of P\\O\W\GCGU&\G& Sciences.
G\U\\’x\\(}?ﬁ\‘d

Respected siy

subo ¢

Jom Guntuku madhusudhay  Humay.
B.pharn T Year Gunuky - HT-NO0 ¢ \GeMIROGR .

Pavients e woking  \aowrs. That's Nh\d T ant
0ttord  4hak wach ok Tusion J?ee

teduge m\a ution fee @ooo

\“J” y&) T\\M\\Cmi \10\1 aif
oY Y
v Yours faidy Qu\\a
S Modngsudhan .
' 4eay - B phavm
\q &N RO0G 3

-*Rc:ﬂmdihca Totion {ce Concession.|

Yrom |

0 please ey

144




.

2a)\far,
s Guﬁwlajﬁa('lv.
The panclpal S
HAvartl Institde, of  phovaceudial lences
Guurthaga
Re«s'}%d—&f SV,

Sub - Rz?cw/qbnﬂ Jee Gorcess'on

T B sheetal From Phamm 0T e

HT-No: Q&GN Tooo] v aum faom My POy Jamy
ord am @ &mﬁl& Rrent cledd - F 1 affpe) Wk
much of fe o Flease, vequest, you Yo weduoe

VWU Jee (500 o?/\// 1

Than K‘ﬂﬁ You Y
xs fas @%l ]

I wdww ﬁumm
QG ) TO0D |

\.J

145




T
The fpﬁnc?.pod Sy
Avartd  Snstidude of PMC&JYC@J aciences

élc,mfkmpaﬂta

Respected sty
auk ¢ Qeaaxcli’ﬂc} Lee concesaion

Torn PPV Dhapa she khan om m.Pkcam
Eoeom HT No~ laanNlistiay . Tom U—”‘QlHnﬁ] His lettex
Srforms gou Hed Pam +rom veny  Pooy -ﬁamo.[j e Wa
fedten 2 ladboun. My %mqtmj ome B VY 56 @O0y
unakle ~to ?Oﬂ Juu fee. 20 Zawm mu&t?ﬁ@ Jow to
veduee fsme  amount 9 fee (s000)\ -

N h\ﬁ-\
e

( |
v, |
'\/ ‘dcbo'\ +i ﬂMLd

A DHANA 3€ kAR

chmumd Qou Sy

s ANt a L Ly

Date:- 22[ 12031

146



